NAIR Assistant Electrical Engineer AEE

Topic:- AEE_PA_NAIRJUNE23

1
) TI/MI-28 of traction distribution pertains to

(1) Adjustment of OHE on Turn out/Crossovers
(2) ATD maintenance

(3) Speed restrictions in OHE

{4) None of the given options are correct.
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[Question ID = 1][Question Description = Q01_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 1]
2. (2) [Option ID = 2]
3. (3) [Option ID = 3]
4. (4) [Option ID = 4]

Correct Answer :-
e (1) [Option ID = 1]

Panto flash aver relay is used in TSS for protection of

(1) OHE

(2) Transformer

(3) Circuit Breaker

(4) None of the given options are correct
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[Question ID = 2][Question Description = Q02_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 5]
2. (2) [Option ID = 6]
3. (3) [Option ID = 7]
4. (4) [Option ID = 8]

Correct Answer :-
e (1) [Option ID = 5]



3) A power supply card in RTU is used to convert

(1) 110 V DC voltage in required DC voltage
(2) DC voltage in required DC and AC voltage
(3) DC voltage in required AC voltage

(4) None of the given options are correct

RTU # 9igy TCATS SIS &l 39T # giafdd &3 &
fore frar ST R

(1) 110 8t SR dtecst &l ATEF ST dieca
(2) St aieeer T IR ST 3R v dees
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[Question ID = 3][Question Description = Q03_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 9]

2. (2) [Option ID = 10]

3. (3) [Option ID = 11]

4. (4) [Option ID = 12]

Correct Answer :-
e (1) [Option ID = 9]

For 160 KMPH fit OHE, the proposed tension is kg.

(1) 2100
(2} 2400
(3) 1800
{4) None of the given options are correct.

160 KMPH i OHE & oIT, wionidg aag ETEA

(1) 2100
(2) 2400
(3) 1900

(4) Ruare AFedt AT e sh T g &

[Question ID = 4][Question Description = Q04_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 13]
2. (2) [Option ID = 14]
3. (3) [Option ID = 15]
4. (4) [Option ID = 16]

Correct Answer :-
® (2) [Option ID = 14]

The length of the fixed part of the dropper is mm in
OHE.

(1) 80

(2) 100

(3) 105

(4) None of the given options are correct

JiwEg A g9 & (A fRud amer & earg A & B

(1) 90
(2) 100
(3) 105
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[Question ID = 5][Question Description = Q05_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 17]
2. (2) [Option ID = 18]
3. (3) [Option ID = 19]
4. (4) [Option ID = 20]

Correct Answer :-
® (3) [Option ID = 19]

In insulated overlap the two sets of wires are insulated from each
ather by an air gap of mm.

(1) 200
(2) 300
(3) 400
(4) 500

SHOICE AT H arll & g1 6e T & va T ganr o
R ST A

(1) 200
(2) 300
(3) 400
(4) 500

[Question ID = 6][Question Description = Q06_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 21]
2. (2) [Option ID = 22]
3. (3) [Option ID = 23]
4. (4) [Option ID = 24]

Correct Answer :-
® (4) [Option ID = 24]

Following/followings can cause panto entanglement.

(1) Improper adjustment of ATD

(2) Improper stagger

(3) Improper adjustment of Turmout and crossover
(4) All given options are correct

fasaTaf@a Jet 3eista /% FROT 39 Ghdl/aFd g
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(2) 3efad ¥R

(3) eei3T3e 3N FIA3iaR F 3] AT
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[Question ID = 7][Question Description = Q07_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 25]
2. (2) [Option ID = 26]
3. (3) [Option ID = 27]
4. (4) [Option ID = 28]

Correct Answer :-
® (4) [Option ID = 28]



8) Closing time for 25 KV vacuum circuit breaker should be less than

ms.

(1) 100
(2) 150
(3) 200
(4) 300

25 Sl deR[H Hhe 9L o 01T Felltotdl IS Afe g
T FH g1 T1fRT)

(1) 100
2) 150
(3) 200
(4) 300

[Question ID = 8][Question Description = Q08_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 29]
2. (2) [Option ID = 30]
3. (3) [Option ID = 31]
4. (4) [Option ID = 32]

Correct Answer :- De|eted

Disconnector disconnects from OHE upon failure.

(1) CB

(2) Interrupter

(3) LA

{4) None of the given options are correct.

Brereiare famorar o sveg & @I fEEweae L 2l

(1) =
(2) ger=x
(3) ToT
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[Question ID = 9][Question Description = Q09_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 33]
2. (2) [Option ID = 34]
3. (3) [Option ID = 35]
4. (4) [Option ID = 36]

Correct Answer :-
e (3) [Option ID = 35]

In AC traction, span length varies in steps of metre.

{1)4.5
{(2)8.0
(3)6.0
{4) None of the given options are correct

ot Eere A, T & e HeT & e 7
afafda gl 81
(1)45

(2)9.0
(3)6.0
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[Question ID = 10][Question Description = Q10_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 37]
2. (2) [Option ID = 38]
3. (3) [Option ID = 39]
4. (4) [Option ID = 40]

Correct Answer :-
e (1) [Option ID = 37]
) The power supply between two adjacent Traction Substations feeding
the OHE in TRD is separated by
(1) SP
(2} S5P
{(3) FP
{4) RCC

EIRET A Hivas & BIg &dd ard ol Jed caeld TeicrEl &
arg fasrel $r amgfd @t T 37enT TRar Srar g

(1) Tt
(2) THTgdr
(3) wdr
(4) 3T

[Question ID = 11][Question Description = Q11_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 41]
2. (2) [Option ID = 42]
3. (3) [Option ID = 43]
4. (4) [Option ID = 44]

Correct Answer :-
e (1) [Option ID = 41]

12) Combined earth resistance for 25 kV TSS should not be more than
ohm.

(1) 15.0
(2)12.0
(3) 10.0
(4) 0.5

25 &4 drewew & fav gy i e T &
STTET el gl =g

(1)15.0

(2)12.0

(3) 10.0

(4)0.5

[Question ID = 12][Question Description = Q12_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 45]

2. (2) [Option ID = 46]

3. (3) [Option ID = 47]
4. (4) [Option ID = 48]

Correct Answer :-
® (4) [Option ID = 48]



13) In reference to traction distribution system, full form of OOR is

{1) Operating Oil Relay

(2) Out of run

(3) Other oil Relay

(4) None of the given options are comect

e BEdene fGren & dgat A, OOR &1 guT &9
BicT &1
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(2) 33 3w =

(3) 3tex 3T R
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[Question ID = 13][Question Description = Q13_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 49]
2. (2) [Option ID = 50]
3. (3) [Option ID = 51]
4. (4) [Option ID = 52]

Correct Answer :-
e (2) [Option ID = 50]

14
) TDMS stands for

(1) Traction Distance Means System

{(2) Traction Distribution Management System
(3) Traction Dependent Managed Sysiem

(4) None of the given options are correct

TDMS &7 39T &

(1) twrereT BecE e e

(2) toRIeT ST feehe faTeH

(3) TR Bdse Heiss s
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[Question ID = 14][Question Description = Q14_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 53]
2. (2) [Option ID = 54]
3. (3) [Option ID = 55]
4. (4) [Option ID = 56]

Correct Answer :-
® (2) [Option ID = 54]



15) Overhead catenary system with approximately 150 sq mm of copper

cross section will have approximately amperes of current
carmying capacity.

(1) 400

(2) 600

(3) 800

(4) None of the given options are correct

FIIL HIT TFe=T F oasET 150 941 BT arer Aates Feal Bea

#H Hlc dge ETHOT T THIRR g
(1) 400
(2) 60D
(3) 800
(4)Teu 3w fawedl & ¥ Fis off Gy 781 ¢

[Question ID = 15][Question Description = Q15_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 57]
2. (2) [Option ID = 58]
3. (3) [Option ID = 59]
4. (4) [Option ID = 60]

Correct Answer :-
® (2) [Option ID = 58]

Minimum discharge rod/rods is/are required for protection
during maintenance activities of OHE.

(11

(2) 2

(3) 3

(4} None of the given options are correct

vgs 1 WREE A0EE F ghe gen F ©v ogean
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(11
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3)3
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[Question ID = 16][Question Description = Q16_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 61]
2. (2) [Option ID = 62]
3. (3) [Option ID = 63]
4. (4) [Option ID = 64]

Correct Answer :-
e (2) [Option ID = 62]



17 The safe distance to work near an OHE wire is

(1) 320 MM

(2) 250 MM

(3) 2m

{4) None of the given opfions

3TaE aR & 9 1w WA g gl

(1) 320 &y

(2) 250 T

(3) 2 #r

(4) few v fa@edl & ¥ FIS 81

[Question ID = 17][Question Description = Q17_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 65]
2. (2) [Option ID = 66]
3. (3) [Option ID = 67]
4. (4) [Option ID = 68]

Correct Answer :-
e (3) [Option ID = 67]

18) The number of V belts used for dniving 110V, 4 5kW TL alternator is

(1) 4
(2) 6
(3)8
{4) None of the given options are correct

110V, 4.5kW & T 3Tecieicd gellel & v g V deg & g
gl

(1) 4
(2) 6
3) 8

(4) Bw a0 BFedl 7 O Fe ol ol 761 &

[Question ID = 18][Question Description = Q18_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 69]
2. (2) [Option ID = 70]
3. (3) [Option ID = 71]
4. (4) [Option ID = 72]

Correct Answer :-
e (1) [Option ID = 69]



19)  Codal life of 120 AH VRLA Batteries used in coaches are
years.

(1) 8
(2) 6
(3) 4
(4) None of the given options are correct

FIT F T drell 120 U0 dR3TRTAT Seil 6T Fisd a=hm ay
Bl Bl

(1) 8
(2) 6
(3)4

(4) fgT v TFeat & O S5 o TeT 6T ©

[Question ID = 19][Question Description = Q19_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 73]
2. (2) [Option ID = 74]
3. (3) [Option ID = 75]
4. (4) [Option ID = 76]

Correct Answer :-
e (4) [Option ID = 76]

20)  vane relay is used in type of coaches.

(1Y ICF TL

(2) ICF AC

(3) LHE TL

(4) None of the given options are correct

e el &1 39T TR o T fRaT ST ¢
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[Question ID = 20][Question Description = Q20_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 77]
2. (2) [Option ID = 78]
3. (3) [Option ID = 79]
4. (4) [Option ID = 80]

Correct Answer :-
® (2) [Option ID = 78]



21 )
) The output voltage of the 25 kVA inverter used in ICF AC coaches is

(1) 110V 1-phase
(2) 220 V 1-phase
(3) 415V 3-phase
(4) 750 V 3-phase

3% Y U T I H ITGET g arer 25 kVA S7a¢T 1 3T3CE aleca
RG]

(1) 110 V -1
(2) 220 V 1-%haT
(3) 415 V 3-%a1
(4) 750 V 3-that

[Question ID = 21][Question Description = Q21_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 81]
2. (2) [Option ID = 82]
3. (3) [Option ID = 83]
4. (4) [Option ID = 84]

Correct Answer :-
e (3) [Option ID = 83]

22) QHP relay is used in AC coaches for protection from

(1) Overvoltage

(2) Overcurrent

(3} Insulation failure

(4) Excessive temperature in the heater
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[Question ID = 22][Question Description = Q22_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 85]
2. (2) [Option ID = 86]
3. (3) [Option ID = 87]
4. (4) [Option ID = 88]

Correct Answer :-
® (4) [Option ID = 88]



The total number/numbers of 750V feeder line/lines running through
an LHB coach is/are

(1) 1
(2) 2
(3) 3
(4) None of the given options are correct

T T ST ST H 750 V Fr ST ATSA/oSad 81 & SIal o/6 |

(1) 1
(2) 2
(3) 3

(4) TeT 377 Asredl & & *is o el Jel &

[Question ID = 23][Question Description = Q23_AEE_PA_NAIRJUNE23]
(1) [Option ID = 89]
. (2) [Option ID = 90]
. (3) [Option ID = 91]
. (4) [Option ID = 92]

AN wnN -

Correct Answer :-
® (2) [Option ID = 90]

LHB AC coach microprocessor has temperature settings.

(1) 2
(2) 5
@7
(4) Neone of the given options are correct

el U & Ol I & AT & ATIAT T Alead 3T g |

(1) 2
()5
37

(4) Bu 7w FFedl # & His off TEr d6f g

[Question ID = 24][Question Description = Q24_AEE_PA_NAIRJUNE23]
(1) [Option ID = 93]
. (2) [Option ID = 94]
. (3) [Option ID = 95]
. (4) [Option ID = 96]

AW N =

Correct Answer :-
® (3) [Option ID = 95]



25) The capacity of VRLA batteries used in LHB AC coaches is )

(1) TOAH

(2) 120 AH

(3) 290 AH

(4) None of the given options are correct

TET U &7 UHT S & 39T 7 S are ar I U U it fr arEar
IR

(1) 70w U=
(2) 120 v U
(3) 290 T U
(4) BT 7w @Fodl & & F15 oA T T8 &

[Question ID = 25][Question Description = Q25_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 97]

2. (2) [Option ID = 98]

3. (3) [Option ID = 99]

4. (4) [Option ID = 100]

Correct Answer :-
e (1) [Option ID = 97]

MMR used in LHB coach stands for ;

(1) Measuring and Monitoring Relay
(2) Multiple Measuring Relay

(3) Maximum Mimmum Regulator
(4) Mixed Mode Regenerator

et U o vl i 7 39T g1 9Tl Solgcieie Sieauac T TH HIT
(MMR) ST e S el

(1) AT U= AT e
(2) HedToeT AieT Rer
(3) AfraHA TATHA W
(4) fhees A Tealet

[Question ID = 26][Question Description = Q26_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 101]
2. (2) [Option ID = 102]
3. (3) [Option ID = 103]
4. (4) [Option ID = 104]

Correct Answer :-
e (1) [Option ID = 101]



27) The toial number/numbers of 60 kVA transtormers available in LHB
pantry cars is/are .
(1)1
(2)2
(3)3
(4) None of the given options are correct

o we o 3¢ B 60 ST B B per e @i

M1
@ 2
@) 3

(4) few 7w Bhcal & & FIs s T a6 &

[Question ID = 27][Question Description = Q27_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 105]
2. (2) [Option ID = 106]
3. (3) [Option ID = 107]
4. (4) [Option ID = 108]

Correct Answer :-
® (2) [Option ID = 106]

28) Output supply of a 500 kWA Hotel Load Converter is

(1) 220V 50Hz 1-phase

(2) 415V 50 Hz 3-ph with neutral
(3) 415V 50 Hz 3-ph without neutral
(4) 750V 50 Hz 3-ph without neutral

el T &t 9iaT F A 500 kVA 3T 51 T & 33T Al gl
(1) 220V 50 g&at 1-%at
(2) 415V 50 §&d 3-thef =g Gfed
(3) 415V 50 BEH 3-5f TR ~UgA &
(4) 750V 50 §&oT 3l TR wgel &

[Question ID = 28][Question Description = Q28_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 109]

2. (2) [Option ID = 110]

3. (3) [Option ID = 111]

4. (4) [Option ID = 112]

Correct Answer :-
® (4) [Option ID = 112]



29)  |nsulation Manitonng relay is provided in circuit of an LHB AC
coach.

(1) 24 V DC
(2) 110 V DC
(3) 415 V AC
(4) 750 V AC

TaTT ST ST 6 Tl # SHoRIE AT Rel 3 3T3HET
Ty |

(1) 24V DC
(2) 110V DC
(3) 415 VAC
(4) 750 VAC

[Question ID = 29][Question Description = Q29_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 113]
2. (2) [Option ID = 114]
3. (3) [Option ID = 115]
4. (4) [Option ID = 116]

Correct Answer :-
e (3) [Option ID = 115]

30) DGAftestis performed by

(1) Gas Chemical analysis

(2) Gas Chromatography

(3) Gas Leak checking instrument

(4) None of the given options are correct

rsfre adieTor EaRT T ST )

(1) I TERITS Eeemor

(2) I HIHCETH

(3) 37 ¢ Tk e arell 39T

(4) Teu T f@eedl A O Fi2 sl @gr a8 &

[Question ID = 30][Question Description = Q30_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 117]
2. (2) [Option ID = 118]
3. (3) [Option ID = 119]
4. (4) [Option ID = 120]

Correct Answer :-
® (2) [Option ID = 118]



31) Hote! Load is/are provided in 3-phase loco.

(1) WAP-5

(2) WAP-7

(3) Both (1) & (2)

{4) None of the given options are correct

3-UaT ollepl 3 gleel oilg oaman 37T ¢

(1)3=egudr-5

(2)5eaudr7

(3)faweT (1) 3 (2) JT T E

(4)few are fahedl & § 1S ST Gel 71gl &

[Question ID = 31][Question Description = Q31_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 121]
2. (2) [Option ID = 122]
3. (3) [Option ID = 123]
4. (4) [Option ID = 124]

Correct Answer :-
e (3) [Option ID = 123]

FIFO system in a loco shed means

(1) First Incidence First Outages

{2) First Intercoil First Outercoil

(3) First In First Out

(4) None of the given options are correct

elierl 213 3 FIFO 9oTrell &1 374 & I
(1) WEC SHISH FEC HBCA
(2) BEE ScThigel e HScLHIgo
(3) TEE BT BEC HBC
(4) Gr v @rei AW FIs s T 78l &

[Question ID = 32][Question Description = Q32_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 125]
2. (2) [Option ID = 126]
3. (3) [Option ID = 127]
4. (4) [Option ID = 128]

Correct Answer :-
e (3) [Option ID = 127]



33) \ - \ ,
Regeneration facility in a locomotives offers

(1) Alternative breaking mechanism

(2) Energy Saving

(3) Both option (1) and (2) are correct
(4) None of the given options are correct

ST 3 Rsterverer Gfen STeTeT AT ¥ |

(1) drfoger afeper AFfasm

(2) FIT I ST

(3) fasred (1) 3R (2) =T FET 8

(4) Ruare el A € F1s s Ter 7ér &

[Question ID = 33][Question Description = Q33_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 129]
2. (2) [Option ID = 130]
3. (3) [Option ID = 131]
4. (4) [Option ID = 132]

Correct Answer :-
® (3) [Option ID = 131]

locomotive can run-at a speed of 160 kmph.

(1) WAP-4
(2) WAP-5

(3) WAP-7
(4) None of the given options are correct

HreRIAITeE 160 forel 9fa g¢ &1 91 A el gFar g

(1) SeeuT-4
(2) Ssegudl-5
(3) Ssequd-7
(4) e 2w fased] 4 @ IS S w@ A §

[Question ID = 34][Question Description = Q34_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 133]
2. (2) [Option ID = 134]
3. (3) [Option ID = 135]
4. (4) [Option ID = 136]

Correct Answer :-
e (2) [Option ID = 134]



33) In dry condition locomotive has maximum adhesion

(1) WAG-9
(2) WAG-7

{3) WAG-5
{4) All of the given options are correct

e Feutd & cilsiAifed 7 Hfsaa A giar ¢

(1) SecgT=il-9
(2) sEegmEi-7
(3) SeeaUSil-5
(4) e 1T i faereT weT

[Question ID = 35][Question Description = Q35_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 137]
2. (2) [Option ID = 138]
3. (3) [Option ID = 139]
4. (4) [Option ID = 140]

Correct Answer :-
e (1) [Option ID = 137]

36) Traction Converter assembly consists of

(1) Line side Converter

(2) DC link Capacitor

(3) Dnve Converter

(4) All of the given options are correct

R FE A ST d B

(1) IS G158 Fedcd

(2) 3t ol Faffex

(3) 3rd Fea

(4) few 7o T AsreT TETE

[Question ID = 36][Question Description = Q36_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 141]
2. (2) [Option ID = 142]
3. (3) [Option ID = 143]
4. (4) [Option ID = 144]

Correct Answer :-
e (4) [Option ID = 144]



37) During electrical braking, the converter converts phase AC

supply into phase AC supply.

(1) Three, Single
(2) Single, Three
(3) Three, Three
(4) None of the given options are correct

ECIEE T I (I ARG I o ro SRR r R s = - S T
U HeeS H Feer gl

(1) o, e

(2) T&aTer, ot

(3) o, o

(4) few I famedl A @ s s e =gl &

[Question ID = 37][Question Description = Q37_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 145]
2. (2) [Option ID = 146]
3. (3) [Option ID = 147]
4. (4) [Option ID = 148]

Correct Answer :-
e (1) [Option ID = 145]

58 BOXN (with CC+8+2) weighs approximately Ton.

(1) 8000
(2) 5300
(3) 7000
(4) None of the given options are correct

58 BOXN (CC+8+2 % W) & dofel olda1smaT Tl Bl

&l

(1) 8000
(2) 9300
(33 7000
(4) Bw v Aot F A PS o T a1 B

[Question ID = 38][Question Description = Q38_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 149]
2. (2) [Option ID = 150]
3. (3) [Option ID = 151]
4. (4) [Option ID = 152]

Correct Answer :-
® (2) [Option ID = 150]



39)  Rubber items in a loco shed should be
(1) Stored in-a cool place
{2) Protected from direct sun light
(3) Protected from circulating air
(4) All the given options are correct

w5 A @5 A Gl RIsT ATRT]
(1) &3 S9Ee W Gafgd
(2) Welt o9 & A
(3) &aT & HuN ¥ FI@ra
(4) feu v walt Tawey W1 &

[Question ID = 39][Question Description = Q39_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 153]
2. (2) [Option ID = 154]
3. (3) [Option ID = 155]
4. (4) [Option ID = 156]

Correct Answer :-
® (4) [Option ID = 156]

40) Statistics of freight locos are available in

(1) PRIME

(2) FOIS

(3) COIS

{4) None of the given options are correct

the oilenl & 3fids F 39cre
(1) dGEISUAS
(2) TFIHBTETT
(3) dEEST
(4) Bw 7w AFedt & & His off g 7181 &

[Question ID = 40][Question Description = Q40_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 157]
2. (2) [Option ID = 158]
3. (3) [Option ID = 159]
4. (4) [Option ID = 160]

Correct Answer :-
® (2) [Option ID = 158]



41)
Train resistance (T) = A+BxV+CxVxV, where V denotes

(1) Axle load

(2) Number of Axle

(3) Velocity

(4) All the given options are correct

S UIRIY (1) = €+ o x df + T x df x dI, rgi di UG
(1) THIA @S
(2) U i Gl
(3) a7
(4) few g et fapen et ©

[Question ID = 41][Question Description = Q41_AEE_PA_NAIRJUNE23]
. (1) [Option ID = 161]
. (2) [Option ID = 162]
. (3) [Option ID = 163]
. (4) [Option ID = 164]

A wWw N =

Correct Answer :-
e (3) [Option ID = 163]

Loco link diagram is prepared for achieving

(1) Maximum utilization of crew

(2) Minimum utilization of crew

(3) Maximum utilization of Locomotives
(4) None of the given options are correct

dienr feler 3 Ot F4el & o0 AR fohar arm Bl
(1) T gl &1 AfSSa I9AET
(2) TTF G F ~UaH IHET
(3) eirEifea =1 3ifdsas 39T
(4) T 1w fasmedl & & HiS off Ty a8 &

[Question ID = 42][Question Description = Q42_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 165]
2. (2) [Option ID = 166]
3. (3) [Option ID = 167]
4. (4) [Option ID = 168]

Correct Answer :-
e (3) [Option ID = 167]



43) In WAG-S'WAPS loco solencid valve-30 is provided for .

{1) Parking brake

{2) Loco brake

{3} Auto brake

(4) None of the given options are correct

WAG-9/WAPS5 el & Hieieliss dled-30 F o semn
STl g1

(1) aifésar e

(2) Fer g

(3) 3T 5%

(4) B fAdkedt F § FS off A A% &

[Question ID = 43][Question Description = Q43_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 169]
2. (2) [Option ID = 170]
3. (3) [Option ID = 171]
4. (4) [Option ID = 172]

Correct Answer :-
e (1) [Option ID = 169]

44) BPGS starts to work at the speed of in 3- phase loco.

(1) 1.5 kmph

(2) 5 kmph

(3) 10 kmph

(4) None of the given options are correct

BPCS T ¢ 3-thef Wil & FH AT AE B B
(1) 1.5 foredt 9fa ey
(2) 5 FreT 9fd =Her
(3) 10 fredt wfa der
(4) ow av Twed & @ F1F of ad G &

[Question ID = 44][Question Description = Q44_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 173]
2. (2) [Option ID = 174]
3. (3) [Option ID = 175]
4. (4) [Option ID = 176]

Correct Answer :-
e (2) [Option ID = 174]



43) is the service imit of wheel diameter difference on same
axle of WAGT loco.

{1) 3.5 mm
(2) 2.5 mm
(3) 5.0 mm
(4) None of the given options are correct

WAGT sl & U &1 UshEel T calel SIAIed fehig o afag fiffe
Bl g1

(1) 3.5 f&=lr
(2) 2.5 f&at
(3) 5.0 [T
(4) T&U a1 Tashedl 7 & g ol HEl 161 &

[Question ID = 45][Question Description = Q45_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 177]
2. (2) [Option ID = 178]
3. (3) [Option ID = 179]
4. (4) [Option ID = 180]

Correct Answer :-
® (2) [Option ID = 178]

46) The maximum width of the Pantograph Collector 1s mm.

(1) 2030
(2) 1800
(3) 2100
(4) None of the given oplions are comect

iT0 L T e e D BRI DD are e a1 4 et g 2y

(1) 2030
(2) 1800
(3) 2100

(4) Ruaw REcdt A RS M oS AT

[Question ID = 46][Question Description = Q46_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 181]
2. (2) [Option ID = 182]
3. (3) [Option ID = 183]
4. (4) [Option ID = 184]

Correct Answer :-
e (1) [Option ID = 181]



47) is a line which supplies a point of distribution netwaork

without being tapped at any intermediate point.
(1) Feeder
{2) Distributor
{3) Power
{4) None of the given options

U oS §, ol fel el g ov e faer
U AT dead § i e g
(1) $rst
(2) AT
(3) wiferd
(4) Tor v Peedt § 4 FI15 T84T

[Question ID = 47][Question Description = Q47_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 185]
2. (2) [Option ID = 186]
3. (3) [Option ID = 187]
4. (4) [Option ID = 188]

Correct Answer :-
e (1) [Option ID = 185]

is the potential difference between two points on the
earth's surface separated by a distance of one pace.

(1) Touch voltage

(2) Maximum voltage

(3) Step voltage _

(4) None of the given options

qedl &1 Hlg Tl NGl & 919 UE FeA 9 g0
JEHT glel arem IR BE g
(1) Fa9r aleesr
(2) iEiaa# dieca
(3) T dlec
(4) B v et F & IS 76T

[Question ID = 48][Question Description = Q48_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 189]
2. (2) [Option ID = 190]
3. (3) [Option ID = 191]
4. (4) [Option ID = 192]

Correct Answer :-
® (3) [Option ID = 191]



49
) The minimum bending radius during installation of cable up to and

including 11 KV should be

(112D
(2)20D
(3)30D
(4) None of the given options

11 &dl e 3R 11 el dRd oo H TA9ar & SRisT =g iaH

Hizer &7 B=ar gl AIgu|
M1z s
(2) 20 &
(3) 30 &
(4) fow 717 faFent & & FE e

[Question ID = 49][Question Description = Q49_AEE_PA_NAIRJUNE23]
(1) [Option ID = 193]
(2) [Option ID = 194]
(3) [Option ID = 195]
(4) [Option ID = 196]

A wWw N =

Correct Answer :- Deleted

is a quantity of light (lumens) incident on a surface
per unit area.

(1) Luminous flux

(2) llluminance

(3) Luminance

(4) None of the given options

dg U1 &l HET (GH-) © ol Uld Sohls &7 § Uh ddg IR
3afad gidi g
(1) QT Gefer
(2) T
(3) g1
4) fleu v fap el 9 A BIs ol

[Question ID = 50][Question Description = Q50_AEE_PA_NAIRJUNE23]
. (1) [Option ID = 197]
. (2) [Option ID = 198]
. (3) [Option ID = 199]
. (4) [Option ID = 200]

A W N -

Correct Answer :-
® (2) [Option ID = 198]



>1) Reading and writing. require an illuminance of more than

(1) 700 lux

{2) 1000 lux

(3) 300 lux

(4) None of the given opfions

Tea 3R s & faw o s Qe 6
HEIFAT Bl B

(1) 700 e

(2) 1000 oEFs

(3) 300 wFE

(4) T&w v GFedl & @ IS 781

[Question ID = 51][Question Description = Q51_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 201]
2. (2) [Option ID = 202]
3. (3) [Option ID = 203]
4. (4) [Option ID = 204]

Correct Answer :-
® (3) [Option ID = 203]

of a refrigerating cycle is an expression of the cycle
efficiency and is stated as the ratio of the heat absorbed in the
refrigerated space to the equivalent heat energy supplied to the
COMpressor.

(1) The coefiicient of performance

(2) Efficiency of Refrigerating Machine
(3) Energy Efficiency Ratio

{4) None of the given options

U Ifhe e O Fr Tk GaTdT T U AfeTeaiad ¢l 59
Ihaes Fre A raeiite Tt 3 RIS 3Tic 1 TS FHGET
FOHT Sl o 3TeT4Tcl & &9 H el ol ¢ |

(1) WeEie o IuTish

(2) IFreriféar a=ie & gamr

(3) il GaTaT 3T

(4) v v et & & IS wigt

[Question ID = 52][Question Description = Q52_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 205]
2. (2) [Option ID = 206]
3. (3) [Option ID = 207]
4. (4) [Option ID = 208]

Correct Answer :-
e (1) [Option ID = 205]



33) For a lift system, 1s the angle at which a passenger

travels with respect to the horizontal,

(1) Newel

(2) Angle of inclination

(3) Sheet Angle

(4) None of the given options

e forte gomel & o ¢ P07 § ol O U AT
&11CT o TrdaT A1 HAT 6

(1) =der

(2) SeereieiRIe &l ShivT

(3) <fre ST

(4) v 7w faseat A T 1S 78T

[Question ID = 53][Question Description = Q53_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 209]
2. (2) [Option ID = 210]
3. (3) [Option ID = 211]
4. (4) [Option ID = 212]

Correct Answer :-

e (4) [Option ID = 212]

are used in hotter climates.

(1) Hot roofs

(2) Cool roofs

(3) Intermediate roofs

(4} Nene of the given options

I 3TN I3 Srerarg 7 foaT A g
(1)71e ©ar
(2)53r Tar
(3)yTeTH Sar
(4)ew 3T [Gaedl § § 12 F51

[Question ID = 54][Question Description = Q54_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 213]
2. (2) [Option ID = 214]
3. (3) [Option ID = 215]
4. (4) [Option ID = 216]

Correct Answer :-
® (2) [Option ID = 214]



33) BLDC (Brushless DC Motor) technology fans consume approximately

waltts of Electricity.

(1) 50-60

(2) 60-70

(3) 30-35

{4) None of the given options
IS (R ST Ay dedifF i dE e . ae
farell & @ua X g1

(1) 50-60

(2} 60-70

(3) 30-35

(4) Fu 10 et & 1S 78

[Question ID = 55][Question Description = Q55_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 217]
2. (2) [Option ID = 218]
3. (3) [Option ID = 219]
4. (4) [Option ID = 220]

Correct Answer :-
e (3) [Option ID = 219]

56 : :
) A is one that relies on renewable sources to produce as
much energy as it uses, usually as measured over the course of a
year

(1) Net-positive energy building
(2) Net-zero energy building

(3) Net-negative energy building
(4) None of the given options

uE 9% £ ol Reguad arar o @R &ar § sik 3ast ar
Fioll &1 I0UIC T & ol dg I9A1ET il &, 95 HHAN 9T TF av
o & 11T |97 ST B

(1) Feaifeifed vasl @fesT

(2) Fie- Teel fafesa

(3) Ae -aafeg uasi Afesa

(4) Tow 710 Fasedt 7 A FIS 75T

[Question ID = 56][Question Description = Q56_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 221]
2. (2) [Option ID = 222]
3. (3) [Option ID = 223]
4. (4) [Option ID = 224]

Correct Answer :-
® (2) [Option ID = 222]



37) panels use solar cells that are made from muliifaceted

silicon crystals.

(1) Poly crystalline

(2) Mono crystalline

(3) Sub Panel

(4) None of the given options

Yeter S A a1 3T FL & off agehernry [ATerhia
Brea e gia €

(1) Orelr SFEee

(2) e e

(3) 39 Saer

(4) Tw T fAdedl &7 & Fis A8

[Question ID = 57][Question Description = Q57_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 225]
2. (2) [Option ID = 226]
3. (3) [Option ID = 227]
4. (4) [Option ID = 228]

Correct Answer :-
e (1) [Option ID = 225]

58
) Fires involving solid combustible materials of organic nature are
classified under class af fire.
(1) A
(2)B
(3)C

(4) None of the given options

Fraffaes yeapfcr & o1 sactereiier G arell 39T &l 3T
Aoft & aga asfiea Fran o g1

e
(2) &
(3) =t
4) o o Aedt § g S A8

[Question ID = 58][Question Description = Q58_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 229]
2. (2) [Option ID = 230]
3. (3) [Option ID = 231]
4. (4) [Option ID = 232]

Correct Answer :-
e (1) [Option ID = 229]



39 Inthe system where separate conductors, each for neutral and

protective functions, are provided throughout the system is called

(1) TN-C

(2) TN-S

(3) TN-C-S

(4) None of the given options

U [oweH 7 STl wggel 3N GRaTcHs Hidl & [elT 3rerar-37ei hsdel
EIIE BCOUe R ) gl Sl

(1) érea v

(2) €oe T

(3) STy

(4) BT AT AFedr T FS A8

[Question ID = 59][Question Description = Q59_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 233]
2. (2) [Option ID = 234]
3. (3) [Option ID = 235]
4. (4) [Option ID = 236]

Correct Answer :-
® (2) [Option ID = 234]

In a large interconnected power system with various voltage levels and
various- capacity equipment, it Is convenient to work with

(1) Model value

(2) Absolute valus

(3) per unit .

(4) None of the given options are correct
faffe dieea w0 3R Rfe aaar are 3Tl § 9y uE gl
SR S8 fdegd qunel # A HH HE
gigenaa= grar § |

(1) FisT de7

(2) TslegE dey

(3) W ghie

(4) Bw v faswedt & & @i off TEr 761 &

[Question ID = 60][Question Description = Q60_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 237]
2. (2) [Option ID = 238]
3. (3) [Option ID = 239]
4. (4) [Option ID = 240]

Correct Answer :-
e (3) [Option ID = 239]



61)

Ferranti effect on long overhead lines is experienced when itis .

(1} Lightly loaded
(2) On full load at Unity P.F.
(3} On full load at 0.8 P F. lag

{4) None of the given options are correct

ol FEIes oSar 9T Nl Shec o 99 OF fidl & oF I8
GIGIN

(1) Tigeel wss

(2) 7T ©lls Ushed 9TUH. T

(3) o7 A 9X 0.8 F1.UF. T

(4) e arw Taeedt & 1 18 o w81 &

[Question ID = 61][Question Description = Q61_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 241]
2. (2) [Option ID = 242]
3. (3) [Option ID = 243]
4. (4) [Option ID = 244]

Correct Answer :-
e (1) [Option ID = 241]

Corona loss is less when the shape of the conductor is

{1) Independent of shape

(2} Circular

(3) Rectangular

(4} None of the given options are correct.

FeFI P IFT g I AR g1t S B g
(1) 3TPR & Taa
(2) e
(3) ¥
(4) U I faedl A A S s g 8T &

[Question ID = 62][Question Description = Q62_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 245]
2. (2) [Option ID = 246]
3. (3) [Option ID = 247]
4. (4) [Option ID = 248]

Correct Answer :-
® (2) [Option ID = 246]



63)  The order of the lightning discharge current is

(1) 10,000 amp
(2) 100 amp
(3) 1amp

{4} Nane of the given aptions are correct

BT Baret i &1 ST BT Bl
(1) 10,000 TFIRR
(2) 100 TFdIT
(3) 1 T
() Ruaw GFei AT FS a6l &

[Question ID = 63][Question Description = Q63_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 249]
2. (2) [Option ID = 250]
3. (3) [Option ID = 251]
4. (4) [Option ID = 252]

Correct Answer :-
e (1) [Option ID = 249]

The magnetising inrush current in a transformer is rich in
(1) 3rd harmaonics
(2) 5th harmonics
(3) 2nd harmonics
(4) None of the given options is correct

Ueh ZIEET A e s e aHeH e ¢
(1) SreRT grEi e
(2) draar gl e
(3) GHU grAlAT
(@) T Aee A s M TS 61 &

[Question ID = 64][Question Description = Q64_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 253]
2. (2) [Option ID = 254]
3. (3) [Option ID = 255]
4. (4) [Option ID = 256]

Correct Answer :-
e (3) [Option ID = 255]

65) The motor which can be used on both AC and DC is g

(1) Reluctance motor

(2) Induction motor

(3) DC senes motor

(4) None of the given options are correct

gt v vd SRl o gEeT T S Esdr g
(1) Rereear Ay
(2) S5 Hiel
(3) SrET AR Aiex
(4) Tow a1 vl 7 @ S ST EE AGT &

[Question ID = 65][Question Description = Q65_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 257]



2. (2) [Option ID = 258]
3. (3) [Option ID = 259]
4. (4) [Option ID = 260]

Correct Answer :-
e (3) [Option ID = 259]

When two transformers of different KVA ratings are connected in
parallel, they share the load in proportion to their respective KVA rating

only when their

(1) Voltage ratings are equal

(2) PU impedances are eqgual
(3)Efficiencies are equal

(4) None of the given options are correct

STE 3TET9T-3T69T SHATT IE3T & &T THBHR FARIGL 3 913 el ¢ of d &g
I Jeteh HaTdT haw IEar & Fiequrd & sl |ISn $d § ofF Ieie
[

(1) dreest Y T grar &

(2) ¥, sTEaSE e gl &

(3) gatand @a Bl &
(4)fcraw faFeat A G P N T A5 &

[Question ID = 66][Question Description = Q66_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 261]
2. (2) [Option ID = 262]
3. (3) [Option ID = 263]
4. (4) [Option ID = 264]

Correct Answer :-
® (2) [Option ID = 262]

Auto reclosing is used In case of
(1) Lightning arrester
(2) CT
(3) CB
(4) None of the given options are correct

3i1eT dareli ot &1 39T & Aoy 7 fobar e B

(1) esci=iar 3T

(2) T

(3) el

(4) Tw are Facpedl 31 3 IS off T AT &

[Question ID = 67][Question Description = Q67_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 265]
2. (2) [Option ID = 266]
3. (3) [Option ID = 267]
4. (4) [Option ID = 268]

Correct Answer :-
e (3) [Option ID = 267]



68
) The supply voltage [V| in the diagram below is

]' CO00
—— W
| 4=40 Vs | 4=70 Vs {=100 V|
— \Vi >
(1) 210 V
(2) 70V
(3) 50 V

{4) None of the given options are correct

AT 3@ # smafddees | V| el
I, 1'. W E : 0000 L,:_, ’_?
| =40 V—> | +—70 V—> {100 V!
::_ V 'I
(1)210V
(2)70V
(3)50V
(4) f&w v [Genedl # & IS o 6eT =181 &

[Question ID = 68][Question Description = Q68_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 269]
2. (2) [Option ID = 270]
3. (3) [Option ID = 271]
4. (4) [Option ID = 272]

Correct Answer :-
e (3) [Option ID = 271]

Indian Railways has set a target of Net Zero Carbon Emission by

(1) 2025
(2) 2030
(3) 2050
(4) None of the given options are correct

T e o T A SR e 3chale 1 oad
i e g1

(1) 2025
(2) 2030
(3) 2050

(4) RuawAscai F A FE s wfi=i g &

[Question ID = 69][Question Description = Q69_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 273]
2. (2) [Option ID = 274]
3. (3) [Option ID = 275]
4. (4) [Option ID = 276]

Correct Answer :-
e (2) [Option ID = 274]



70
) Automatic switching on/off lights at all stations based on the arrival of

trains is platform lighting.

{1} 30%-70%
(2) 50%-70%
{3) 50%-50%
{4) Mone of the given options are correct

Sl & 3TETHST o SR IR |l T IR EFdiield &9 I ese Ie/dg
FEAT ColeHi e gl

(1) 30% - 70%
(2) 50% - 70%
(3) 50% - 50%

(4) Ruaw @FeT AT FS T AT 6T &

[Question ID = 70][Question Description = Q70_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 277]
2. (2) [Option ID = 278]
3. (3) [Option ID = 279]
4. (4) [Option ID = 280]

Correct Answer :-
e (1) [Option ID = 277]

ESCO stands for

(1) Energy Service Company

(2) Energy System Company

(3) Equipment System Company

(4) None of the given options are correct

ESCOF 37T & |
(1) vl BfEa Huei
(2) ueTsil R H F9er
(3) SHITIT A @yl
(4) Teuw e et 7 T H1S M T AGT &

[Question ID = 71][Question Description = Q71_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 281]
2. (2) [Option ID = 282]
3. (3) [Option ID = 283]
4. (4) [Option ID = 284]

Correct Answer :-
e (1) [Option ID = 281]



72)
15 the most likely source of harmonics in a transformer.

(1) Over Voltage

(2) Core Saturation

(3} Poor Insulation

(4) None of the given options are correct

TR & graffEes o gy garfad @ &
(1) 3TER Frecor
(2) ®R FIET
(3) TS SeI
(4) Ruaw AFeat A FS T adragi &

[Question ID = 72][Question Description = Q72_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 285]
2. (2) [Option ID = 286]
3. (3) [Option ID = 287]
4. (4) [Option ID = 288]

Correct Answer :-
® (2) [Option ID = 286]

Full load copper loss in a transformer is 1600 watts. At half load, the
copper losses will be

(1) 8400 W
(2) 1600 W
(3) 400 W
(4} MNone of the given options are correct

T CIBIAT H el oils HIR ol 1600 AT §1 3 718 T HIR i

Gie

(1) 6400 W
(2) 1600 W
(3) 400 W

(4) Rraw Aeeai A A Fs M T e g

[Question ID = 73][Question Description = Q73_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 289]
2. (2) [Option ID = 290]
3. (3) [Option ID = 291]
4. (4) [Option ID = 292]

Correct Answer :-
e (3) [Option ID = 291]



74) Scott connections are used to convert

(1) Three phase supply to D.C_ supply

{2) Three phase supply to three-phase supply
(3) Three phase supply to two-phase supply
(4) None of the given options are correct

Thic Foldelel & 3TTET H Hade Hle & o B San
gl

(1) &f %1 woels A SRIT Heers

(2) off T HeeS W o ther woenS
(3) off et FTas F € el Hoells
(4) Buaw el A d FS T wdl aAd &

[Question ID = 74][Question Description = Q74_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 293]
2. (2) [Option ID = 294]
3. (3) [Option ID = 295]
4. (4) [Option ID = 296]

Correct Answer :-
e (3) [Option ID = 295]

Due to harmonics will draw more harmonic current.
(1) Resistor
(2) Capacitor
(3) Inductor
{(4)None of the given options are correct

BIATTeIH o HROT 31feres grffeisy ary dim)

(1) M=

(2) FAeT

(3) g3

(4) T are et 4 & FE o o 78T &

[Question ID = 75][Question Description = Q75_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 297]
2. (2) [Option ID = 298]
3. (3) [Option ID = 299]
4. (4) [Option ID = 300]

Correct Answer :-
® (2) [Option ID = 298]



76 : F _ ;
) The fatigue failure in a material occurs due {0

{1) Point lead

(2} Distributed load

(3) Cyclic load

(4)None of the given options are correct

ol gerel 7 wlter fawerar & FROTEIAT 61

(1) FgaR

(2) faaid a1

(3) WEERTS AN

(4) Tew aru Tashed] 31 & #1537 |el 781 &

[Question ID = 76][Question Description = Q76_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 301]
2. (2) [Option ID = 302]
3. (3) [Option ID = 303]
4. (4) [Option ID = 304]

Correct Answer :-
e (3) [Option ID = 303]

With reference to Ohms law 1.e. R=V/I, if voltage i1s reduced to hali
then R would

(1) Remain unchanged

(2) Double

(3) Reduce to half

(4) None of the given options are correct

FHigea g arelt R=V| & desf &, 309K diec s 3em el oial £ af R
BIaTT|

(1) 3uiEfda
(2) =9
(3) 3en

4) Reaw st A d s M adrade

[Question ID = 77][Question Description = Q77_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 305]
2. (2) [Option ID = 306]
3. (3) [Option ID = 307]
4. (4) [Option ID = 308]

Correct Answer :-
e (1) [Option ID = 305]



78)  The equipment used for measuring the velocity of winds is

(1) Piezometer

(2} Ammeter

(3) Anemometer

(4) None of the given options are correct

T S AT A ATGA AT 39HOT BTl

(1) draiiEex

(2) 3

(3) TAAART

(4) Buaw @Fcdi A0 Fis s Wl dal &

[Question ID = 78][Question Description = Q78_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 309]
2. (2) [Option ID = 310]
3. (3) [Option ID = 311]
4. (4) [Option ID = 312]

Correct Answer :-
e (3) [Option ID = 311]

In two packet tender system

{1) Technical bid is openad first

{2) Commercial bid is opened first

(3) Both are opened at the same time
{5) None of the given options are correct

e AT gomer &

(1) A=l 9 Tget @iel el &

(2) FARE a5 ygor Gl S §
(3) QAT UH & @AY H Goid ¢

(4) fouw are fasmedi 87 & 1S oh ad At &

[Question ID = 79][Question Description = Q79_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 313]
2. (2) [Option ID = 314]
3. (3) [Option ID = 315]
4. (4) [Option ID = 316]

Correct Answer :- Deleted

The contract agreement is signed by

{1) Only railway officers

{2) By railway officer and firm’s nominated person

(3) By railway officer, firm’s nominated person and account officer
(4) None of the given options are correct

ST TSI TN ETER fehe =t €1
(1) et ora T garr
(2) erd ATOFRT Ud 3 GaRT ATTHT S ferd ganT
(3) Yerd HTeRIl, B c@ry AllAd cafed Ud o@r ATIHRI carm
(4) Rrar AT AT TS M adT g &

[Question ID = 80][Question Description = Q80_AEE_PA_NAIRJUNE23]



. (1) [Option ID = 317]
. (2) [Option ID = 318]
. (3) [Option ID = 319]
. (4) [Option ID = 320]

A W N -

Correct Answer :-
e (2) [Option ID = 318]

81
) A stainless steel bolt of size M20 is required to be tightened with a
torque of kgm.
(1) 50
(2) 25
(3) 10
(4) None of the given options are correct
M20 3R & U T Teiel alet ol kgm & TR &
M7 FE T FEIHAT Bl gl
(1) 50
(2) 25
(310
(4) Bw 7T BeFedt &7 & IS off @fr 78 &

[Question ID = 81][Question Description = Q81_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 321]
2. (2) [Option ID = 322]
3. (3) [Option ID = 323]
4. (4) [Option ID = 324]

Correct Answer :-
e (1) [Option ID = 321]

For stores matter PAC stands for

(1) Property Article Certificate

(2) Proprietary Article Certificate

(3) Proprietary Art Certificate

(4) None of the given options are correct

Y #et & gFaey A PAC FT Adod BT gl

(1) 9T9el 3MTTEher AleTthehe

(2) ITHTSeA ATTeshel TfeTthehe

(3) ATHTSe AT Al fthehe

(4) l&T 71T AFear & & HIs o A8 76T ¢

[Question ID = 82][Question Description = Q82_AEE_PA_NAIRJUNE23]
. (1) [Option ID = 325]
(2) [Option ID = 326]
(3) [Option ID = 327]
(4) [Option ID = 328]

N

A w N



Correct Answer :-
® (2) [Option ID = 326]

83)  The latest revision of the Indian Railways Schedule of dimensions,
1676 Gauge, BG, was issued in year

(1) 2004
(2) 2022
{3) 2023
(4) MNone of the given options are correct

A I Rizge AT SR, 1676 3=, S5 &1 Adiaaq

el av I A TRar e
(1) 2004
{2) 2022
(3) 2023
(4) & av Aedt F & FS off §EY 76T &

[Question ID = 83][Question Description = Q83_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 329]
2. (2) [Option ID = 330]
3. (3) [Option ID = 331]
4. (4) [Option ID = 332]

Correct Answer :-
® (2) [Option ID = 330]



For new works/ addition to existing works, minimum distance
between two tracks, centre to centre on straight tracks, is
mm.

(1) 5300
(2) 5400
(3) 4200
(4) None of the given options are correct

AT FET F forw/AlSEr FE1 & gefT & forw, d@eft elar | gEr
el & HeX ®ige & | & #geIad gl [GEINCI
gl

(1) 5300
(2) 5400
(3) 4200
(4) BT 717 SeFedl & & Fis o TEr 8T &

[Question ID = 84][Question Description = Q84_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 333]
2. (2) [Option ID = 334]
3. (3) [Option ID = 335]
4. (4) [Option ID = 336]

Correct Answer :-
e (1) [Option ID = 333]

IS 732 : 2019 pertains to

(1) Code of Practice for Earthing

(2) Code of Practice for Electncal Winng Installations
(3) AC Substation Grounding

{4) None of the given options are correct

IS 732 : 2019 o g&fad gl

(1) it & foiw §fd @fear

(2) fAcaferl s sifEsam=t & e 3 gfgar
(3) T FEECd ASEA

(4) Rw w1e RAwedl & A F1S off wf A%

[Question ID = 85][Question Description = Q85_AEE_PA_NAIRJUNE23]
1. (1) [Option ID = 337]
2. (2) [Option ID = 338]
3. (3) [Option ID = 339]



4. (4) [Option ID = 340]

Correct Answer :-
® (2) [Option ID = 338]

Topic:- AEE_PB_NAIRJUNE23

1
) Basic structure of the constitution can be changed by

(1) Parliament

{2) Supreme Court

(3) President

(4) None of the given options are correct

TiensT &1 7 T B EaRT FEell off @bl gl
(1) s8c
(2) wafca =arre

(3) TregHfar
(4) few a1 fashedi 7 ¥ iz o @@ AT §

[Question ID = 171][Question Description = Q01_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 681]
2. (2) [Option ID = 682]
3. (3) [Option ID = 683]
4. (4) [Option ID = 684]

Correct Answer :-
® (4) [Option ID = 684]

2) |bn Battuta, a fourteenth-century traveller was from
(1) Turkey
(2) America
(3) Africa
(4) Mone of the given options are correct

dicgdl ArEAT S AN ST Sl F
(1) geht
(2) FHLH
(3) 3hiepT
@ Reaw Pect FaFE o agt &

[Question ID = 172][Question Description = Q02_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 685]
2. (2) [Option ID = 686]
3. (3) [Option ID = 687]
4. (4) [Option ID = 688]

Correct Answer :-
e (3) [Option ID = 687]



3) was the first Mughal emperor.

(1) Akbar

{2) Babur

(3) Jahangir

(4} None of the given options are correct

TEel HITel SIGRIE o
(1) 3F
(2) a=’
(3) STeraT
(4) Teu 17 GFedt & ¥ FIs o T8 7ol &

[Question ID = 173][Question Description = Q03_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 689]
2. (2) [Option ID = 690]
3. (3) [Option ID = 691]
4. (4) [Option ID = 692]

Correct Answer :-
® (2) [Option ID = 690]

4) wrote a three-volume history of Akbar’s reign, titled Akbar
Nama.
(1) Abul Fazl
(2) Nur Jahan
(3) Sisodia
(4) Nane of the given options are correct

o 3hET F ATHEE & el @al 7 sfage o,

Torger e sieay araT o)
(1) 37<el Tatel
(2) Tx=TT
(3) FaEEar
(4) few 1w f@&edl 3 U H15 o TET 16T ¢

[Question ID = 174][Question Description = Q04_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 693]
2. (2) [Option ID = 694]
3. (3) [Option ID = 695]
4. (4) [Option ID = 696]

Correct Answer :-
e (1) [Option ID = 693]



3)  Mirabai became a disciple of
{1) Ravidas
(2) Ghanshayamdas
(3) Surdas
{4) None of the given options are correct

AEs & R ae

(1) Yaer

(2) ge=aragy

(3) Hxer

(4) few 71w fawred! & T F1 off @8 78T &
[Question ID = 175][Question Description = Q05_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 697]
2. (2) [Option ID = 698]

3. (3) [Option ID = 699]
4. (4) [Option ID = 700]

Correct Answer :-
e (1) [Option ID = 697]

Baba Guru Nanak appointed as his successor.
(1) Guru Angad
(2} Guru Arjan
(3) Guru Tegh Bahadur
{4) None of the given options are correct

T % A A I FIT SRR HgFT R
(1}311:31?13
2) 1%

{3}?“3“3?@

(4) T 7w fawed # F Hi5 off @& 78 ©

[Question ID = 176][Question Description = Q06_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 701]
2. (2) [Option ID = 702]
3. (3) [Option ID = 703]
4. (4) [Option ID = 704]

Correct Answer :-
e (1) [Option ID = 701]



7) Nadir Shah plundered the city of Delhi in
(1) 1780
(2) 1739
(3) 1880
(4) None of the given options are correct

AIfeT AT = # fewel 2T & e
(1) 1780

(2) 1739

(3) 1880

(4) Tew 1w fawedt 7 @ #g off W A §

[Question ID = 177][Question Description = Q07_AEE_PB_NAIRJUNE23]

1) [Option ID = 705]
2. (2) [Option ID = 706]
3. (3) [Option ID = 707]
4. (4) [Option ID = 708]

Correct Answer :-
® (2) [Option ID = 706]

8)  The Gonds were/are found in states of
{1)Madhya Pradesh,
(2)Maharashtra

(3)Andhra Pradesh
{4)All of the given options are correct

E) | A i e = M1 Ll o B 7]
(1) FeT 9T,

(2) HERTSE

(3) 37er geRr

(4) few a1 wall o TaT &

[Question ID = 178][Question Description = Q08_AEE_PB_NAIRJUNE23]
1) [Option ID = 709]

2. (2) [Option ID = 710]

3. (3) [Option ID = 711]

4. (4) [Option ID = 712]

Correct Answer :-
® (4) [Option ID = 712]



%) was the first major victory the East India
Company won in India.

(1) The Battie of Panipat

(2) The Battle of Plassey

(3) The Battle of Kurushetra

(4) None of the given options are correct

AR & st Si3ar Fuell I ggell 921 Siid o]
(1) 9T &7 Jau
(2) womEt @1 gerr
(3) FwaT T eer
(4) Tw o fawedt F & *I15 o T 76T &

[Question ID = 179][Question Description = Q09_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 713]
2. (2) [Option ID = 714]
3. (3) [Option ID = 715]
4. (4) [Option ID = 716]

Correct Answer :-
® (2) [Option ID = 714]

10)  The Champaran movement was against the

(1) Indigo Planters

(2) Government

(3) Zamindars

(4) None of the given options are correct

GUROT FHigrels & faers o |
(1) gfEai coiied
(2) WFR
(3) w1
(4) fgw 17 et 7 ¥ F5 off I8 7 &

[Question ID = 180][Question Description = Q10_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 717]
2. (2) [Option ID = 718]
3. (3) [Option ID = 719]
4. (4) [Option ID = 720]

Correct Answer :-
e (1) [Option ID = 717]



11
) The methad of sowing seeds in jhum cultivation is known as

(1) Broadcasting

{2) Loading

(3) Ploughing

(4) None of the given options are correct

A War A7 Jior | d @ e & ®q F A= 1A
Bl

(1) ST

(2) fEar

(3) S

(4) eu 0 fawedt A & His ol @El <181 &

[Question ID = 181][Question Description = Q11_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 721]
2. (2) [Option ID = 722]
3. (3) [Option ID = 723]
4. (4) [Option ID = 724]

Correct Answer :-
e (1) [Option ID = 721]

founded Brahmo Sabha.
(1) Raja Rammohun Roy
(2) Ishwarchandra Vidyasagar
(3) Swami Dayanand Saraswati
(4) None of the given options are correct

o FEA T FT TRaer $ of
(1) I IFHARS T
(2) Seatdy THegmEEN
(3) T gaE TGl
(4) Bu 3w @wedl H & Fi5 off T AT &

[Question ID = 182][Question Description = Q12_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 725]
2. (2) [Option ID = 726]
3. (3) [Option ID = 727]
4. (4) [Option ID = 728]

Correct Answer :-
e (1) [Option ID = 725]



13) The Satyashodhak Sama) was founded by
(1) Swami Dayanand Saraswati
(2) Jyotirac Phule
(3) Haridas
(4) None of the given options are correct

TR AT i T0=ET EarT &I 7S o)
(1) e gumeig TTEad
(2) ST Per

(3) sRew _
(4) feu 7w fGshedl & § Fis o 91 781 &

[Question ID = 183][Question Description = Q13_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 729]
2. (2) [Option ID = 730]
3. (3) [Option ID = 731]
4. (4) [Option ID = 732]

Correct Answer :-
® (2) [Option ID = 730]

14) raised the slogan, “Freedom is my birthright and | shall
have it".
{1) Bal Gangadhar Tilak
{2) Bipan Chandra Pal
(3) Bhagat Singh
{4) None of the given options are correct

o A &, “wEaAm AU SeAttey e § IR A
En LRGN
(1) are IEmreR Oas
(2) Taf=r dg grer
(3) s e
(4) Bu 7w et &7 ¥ F15 o T A6 &

[Question ID = 184][Question Description = Q14_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 733]
2. (2) [Option ID = 734]
3. (3) [Option ID = 735]
4. (4) [Option ID = 736]

Correct Answer :-
e (1) [Option ID = 733]



15)  1n 1905, viceroy partitioned Bengal.
(1) Dalhousie
(2) Curzon
(3) James mil
(4) None of the given options are correct

1905 &, aRERIT o ST F TS R
(1) scmlsh

(2) Tt

(3) wiew fher

(4) fow I fawedt 7 A @i off /8 8§

[Question ID = 185][Question Description = Q15_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 737]
2. (2) [Option ID = 738]
3. (3) [Option ID = 739]
4. (4) [Option ID = 740]

Correct Answer :-
® (2) [Option ID = 738]

') Gandhiji arrived in India in from South Africa.
(1) 1820
(2) 1906
(3) 1915
(4) None of the given options are correct

aefist gfaor 3nhE & 7 AT T
(1) 1920
(2) 1906
(3) 1915
(4) BT 1T AT F F FS o T 7

[Question ID = 186][Question Description = Q16_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 741]
2. (2) [Option ID = 742]
3. (3) [Option ID = 743]
4. (4) [Option ID = 744]

Correct Answer :-
e (3) [Option ID = 743]



17 In 1919, Gandhiji gave a call for a salyagraha against the
that the British had just passed.

(1) Rowlatt Act

(2} Arms Act

(3) Freedom Act

(4} Nene of the given options are correct

1919 &, Jmefrofr o & T@ET% ScdEIg 1 3eae
fohan, IS8 31361 o 30 98T 9Iid fRar o

1)
{2)3f|n-‘ruaf
(3) thrs=
{4)mmﬁwﬁﬁ#aﬁésﬂﬂﬁaﬁ?ﬁ

[Question ID = 187][Question Description = Q17_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 745]
2. (2) [Option ID = 746]
3. (3) [Option ID = 747]
4. (4) [Option ID = 748]

Correct Answer :-
e (1) [Option ID = 745]

18) was the first lady judge of Supreme Court in India.
(1) Justice Sujata V. Manohar
(2) Justice Indu Malhotra
(3) Justice Ranjana Desai

(4) Justice Fathima Beewi

ART & Hdieg ~aramay & ggeir Afger amredier

off|
(1) wamfet Femar . Fe
(2) =armEfd gg AewrAr
(3) warEfct T G
(4) =T wifceT S

[Question ID = 188][Question Description = Q18_AEE_PB_NAIRJUNE23]
1) [Option ID = 749]

2. (2) [Option ID = 750]

3. (3) [Option ID = 751]

4. (4) [Option ID = 752]

Correct Answer :-
e (4) [Option ID = 752]



19 on 8 April, 1929 threw a bomb in the Central
Legislative Assembly.

(1) Bhagat Singh and Sukhdev
(2) Bhagat Singh and C 5 Azad
(3) Bhagat Singh and B.K. Dutt

(4) None of the given options are correct

8 e, 1929 Fr o Fo U @I & T B
(1) s e 3R gued
(2) st g 3R & g amerg
(3) o9 Mg 3R &k &a
(4) Bw ar Awedt & T F1S ofr Thr g7 §

[Question ID = 189][Question Description = Q19_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 753]
2. (2) [Option ID = 754]
3. (3) [Option ID = 755]
4. (4) [Option ID = 756]

Correct Answer :-
e (3) [Option ID = 755]

_ is regarded as the founding father of modemn
BCONOmICcS.
(1) John Maynard
(2) Adam Smith
(3) John Roe
(4) None of the given options are correct

& el ITRIET F G Odr J= FA6Gr §
(1) Siter A=
(2) wsH Fewwr
(3) ST
(4) Gu a1w faewmedt & ¥ @i off Tl «ig1 ¢

[Question ID = 190][Question Description = Q20_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 757]
2. (2) [Option ID = 758]
3. (3) [Option ID = 759]
4. (4) [Option ID = 760]

Correct Answer :-
® (2) [Option ID = 758]



21) is the market value of all final goods and services
produced within a domestic territory of a country measured in'a year.

(1) NNP
(2) GNP
(3) GDP
(4) None of the given options are correct

UF 9 F AN AT T F W 4F & fiaw sewiea
Tl igeTer ST 3N A & IR Hed Bl
(1) wergady
(2) Suadr
(3) ShrEdy
(4) for 7w et F & Fis o TEr 6l o

[Question ID = 191][Question Description = Q21_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 761]
2. (2) [Option ID = 762]
3. (3) [Option ID = 763]
4. (4) [Option ID = 764]

Correct Answer :-
e (3) [Option ID = 763]

are things a firm owns or what a firm can claim from
others.

(1) Assels

(2) Liabilities

(3) Reserve

(4) None of the given options are correct

L A E o wh o & o E o o g @
grar & gehal &
(1) wded

o

(2) Cerertean
(3) =g
(4) v 71w fawedt § 4 P2 o @) 787 &

[Question ID = 192][Question Description = Q22_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 765]
2. (2) [Option ID = 766]
3. (3) [Option ID = 767]
4. (4) [Option ID = 768]

Correct Answer :-
e (1) [Option ID = 765]



23)  The Government of India have signed the Convention of Biodiversity
at the Earth Summit held at in June 1892
(1) Paris
(2) London
(3) Brazil
(4) None of the given options are correct

A TFR o o 1992 7 # mAfea gedr et
FEe # oig AaYdar & EHes 97 RO 90

(1) 9=

(2) wig=

(3) sl

(4) Tew 7w Aedl # 4 is o T8 781 ¢

[Question ID = 193][Question Description = Q23_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 769]
2. (2) [Option ID = 770]
3. (3) [Option ID = 771]
4. (4) [Option ID = 772]

Correct Answer :-
e (3) [Option ID = 771]

24 Biodiversity is richer in

(1) Tropical Regions
(2) Temperate Regions

(3) Polar Regions
(4) None of the given options are correct

=g fafguar A "HeY ¢l
(1) Fsurnfcasdr &F
(2) TeAehdSoT 8t
(3) e &
(4) Gu a7 Banedt § @ Fis o1 H@eT 1ol ¢

[Question ID = 194][Question Description = Q24_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 773]
2. (2) [Option ID = 774]
3. (3) [Option ID = 775]
4. (4) [Option ID = 776]

Correct Answer :-
e (1) [Option ID = 773]



25)  The wind blowing from the sea to the land is known as

(1) Land breez

(2) sea breez

(3) cool breez

(4) None of the given options are correct

TG A A FT AR Fgel drell gar & & TG 7 e
S g1

(1) 8 gar

(2) FEr gar

(3) &I gar

(4) ©w 71w Aot & ¥ #is off Tr 751 §

[Question ID = 195][Question Description = Q25_AEE_PB_NAIRJUNE23]

1. (1) [Option ID = 777]
2. (2) [Option ID = 778]
3. (3) [Option ID = 779]
4. (4) [Option ID = 780]

Correct Answer :-
® (2) [Option ID = 778]

26) The lies above the stratosphere, which extends up to a
height of 80 km.

(1) lonosphere
(2) Mesosphere

(3) Troposphere
(4) None of the given options are correct

THAT H3d & FR o &, 5 80 & & Fare
o thell g3t 81
(1) smaaehaT
(2) HABERRIT
(3) grdrEdraT
(4) @ aw aredt § § Fi5 o I 7eT &

[Question ID = 196][Question Description = Q26_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 781]
2. (2) [Option ID = 782]
3. (3) [Option ID = 783]
4. (4) [Option ID = 784]

Correct Answer :-
® (2) [Option ID = 782]



27) is transparent to incoming solar radiation and opaque to

outgoing terrestrial radiation.

(1) Oxygen

(2) Helium

(3) Nitrogen

(4) Carbon dioxide

et arel G TafeRer & o areif § 3 Tt o arer

FeliY fAfEoT = Tew smeelt 21

OEEIED

(2) dfera

(3) sgister

(4) 1T SIg3iiRIEs

[Question ID = 197][Question Description = Q27_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 785]
2. (2) [Option ID = 786]
3. (3) [Option ID = 787]
4. (4) [Option ID = 788]

Correct Answer :-
e (4) [Option ID = 788]

28) is an apparent force due to the Earth’s rotafion.

(1) Coriolis Force
(2) Gravitational Force
(3) Neuton Force

(4) Nene of the given aptions are correct

g% & U & FRUT U AT 9 B
(1) FIRFTerE I0
(2) Irecarepdor o
(3) =g 5T
{4) Tow 7w Gwedt 7 & @is off TEr g1 ¢

[Question ID = 198][Question Description = Q28_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 789]
2. (2) [Option ID = 790]
3. (3) [Option ID = 791]
4. (4) [Option ID = 792]

Correct Answer :-
e (1) [Option ID = 789]



29 Y o ; s g2
) Is Incoming solar radiation in short wave form.

(1) Sublimation
(2) Insolation
(3) Radiation

(4) None of the given options are correct
Y 6T ¥ 7 370 awer d@R [ERr §

(1) TaolaRE
(2) geTEIeRrET
(3) Faf=oT
(4) RBw 71w fawedt & @ F15 o W 78T &

[Question ID = 199][Question Description = Q29_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 793]
2. (2) [Option ID = 794]
3. (3) [Option ID = 795]
4. (4) [Option ID = 796]

Correct Answer :-
® (2) [Option ID = 794]

30) Is the energy required to change a substance to a higher
state of Maiter.
(1) Conduction Heat
(2) Latent Heat
(3) Preserved Heat

(4) None of the given options are correct

Rl ggrel Y 3T9 39T A dgad & ow Haegs
el alal gl

(1)?11?4?[:5&!%

(2) I
{3)mﬁﬁﬁaw
(4) Teu a1 ashedt A 9 Fis o1 Wl T6T &

[Question ID = 200][Question Description = Q30_AEE_PB_NAIRJUNE23]
1) [Option ID = 797]

2. (2) [Option ID = 798]

3. (3) [Option ID = 799]

4. (4) [Option ID = 800]

Correct Answer :-
e (2) [Option ID = 798]



31
) is a place on the surface of the earth located at the

shortest distance from the focus of the earthquake:
(1) Epicentre
(2) Ecocentre
(3) Neocentre

(4) None of the given options are correct

T & BIFE A FH U FH U W AT A #r
g 9T FeuT gian gl
(1) sF¥eX
(2) sehItieT
(3) ORI
(4) feu av fashedt 7 A ®IE o WEY QT

[Question ID = 201][Question Description = Q31_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 801]
2. (2) [Option ID = 802]
3. (3) [Option ID = 803]
4. (4) [Option ID = 804]

Correct Answer :-
e (1) [Option ID = 801]

32) Whena disease-carrying microbe enters our body, the body
produces to fight the invader.
(1) Pathogen

(2) Preservative
(3) Antibodies

(4) None of the given options are correct

ST U QA e A oilg gAN TR 7 YA & g, dr aiR
g & oisA & faw ter A B

(R CIEGED

(2) 9l eTw

(3) dEiST

(4) o 7w et F & s off TEr T6l o

[Question ID = 202][Question Description = Q32_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 805]
2. (2) [Option ID = 806]
3. (3) [Option ID = 807]
4. (4) [Option ID = 808]

Correct Answer :-
e (3) [Option ID = 807]



33
) Tuberculosis i1s caused by

(1) Virus
(2) Bacteria
(3) Protozoa

(4) None of the given options are correct

&7 T % ST g &

(1) ey
(2) S
(3) ST
(4) Bw v fasmedt & & #15 o FEl 76T &

[Question ID = 203][Question Description = Q33_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 809]
2. (2) [Option ID = 810]
3. (3) [Option ID = 811]
4. (4) [Option ID = 812]

Correct Answer :-
® (2) [Option ID = 810]

34) World homoeopathy day is celebrated in the month of

(1) January
(2) March
(3) April

{4) None of the given options are correct

faeg grentelt feaw % HEle 7 HeAr o gl
(1) Sty
(2) AT
(3) 3drer
(4) Bw v faswedt & @ 12 o gy a1 &

[Question ID = 204][Question Description = Q34_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 813]
2. (2) [Option ID = 814]
3. (3) [Option ID = 815]
4. (4) [Option ID = 816]

Correct Answer :-
® (3) [Option ID = 815]



35 Under writ, the court orders a lower court or another
authority to transfer a matter pending before it to the higher authaority
or court.

(1) Certioran
(2) Mandamus
(3) Prohibition

(4) None of the given options are correct

_ e % dgd, Jcmeid fegel grerd ar B 3T
IfElRIoT &I 38 GHET wfaa JiFel & 3o TIfedor A1 Seeid
A T=iaila &t & 35 St

(1) TEHARR

(2) Hermm

(3) wifgfaerET

(4) fow are faseat & & wis of g 78T ¢

[Question ID = 205][Question Description = Q35_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 817]
2. (2) [Option ID = 818]
3. (3) [Option ID = 819]
4. (4) [Option ID = 820]

Correct Answer :-
e (1) [Option ID = 817]

is the fastest train in India.

(1) Rajdhani Express
(2) Duronto Express
(3) Vande Bharat Express
(4) Gatiman Express

AR Y T ool Tedst are oof g

[Question ID = 206][Question Description = Q36_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 821]
2. (2) [Option ID = 822]
3. (3) [Option ID = 823]
4. (4) [Option ID = 824]

Correct Answer :- Deleted



37) The Constitution of India vests the executive power of the Union

formally in the
(1) President
(2) Prime Minister
(3) Council

(4) None of the given options are correct

T &1 G Homiis & § F g & FEEE
ufea Wfgd +ar 2

(1) Tsgafd

(2) weret HA

(3) aRwg

(4) ew v e &7 @ H1E o 9 A8 &

[Question ID = 207][Question Description = Q37_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 825]
2. (2) [Option ID = 826]
3. (3) [Option ID = 827]
4. (4) [Option ID = 828]

Correct Answer :-
e (1) [Option ID = 825]

38) The Vice President is elected for years.
(1) Four
(2) Five
(3) Six

{4) None of the given options are correct

Iqrseafa auf & forw 9o a8
(1) =T
(2) =
(3) B8
(4) fGw a1 aFedt & § FI12 ot T8l 7181 &

[Question ID = 208][Question Description = Q38_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 829]
2. (2) [Option ID = 830]
3. (3) [Option ID = 831]
4. (4) [Option ID = 832]

Correct Answer :-
® (2) [Option ID = 830]



39)  The Council of Ministers is collectively responsible to the

(1) Rajya Sabha
{2) Lok Sabha
(3) Rajya Sabha and Lok Sabha

(4) None of the given options are correct

A oRwg IHfeE T & & gic IRl g 2
(1) T |
(2) wie |
(3) Tomae A wimasT
(4) B o Tt & & HIS off T AT &

[Question ID = 209][Question Description = Q39_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 833]
2. (2) [Option ID = 834]
3. (3) [Option ID = 835]
4. (4) [Option ID = 836]

Correct Answer :-

& (2) [Option ID = 834]

15 largest continent of the world.

(1) Asia

(2) Africa
(3) Europe
(4} Australia

faea &1 w9y 931 Agigdy &
(1) o
(2) 31~;ﬁr$r
(3) T
(4) aitectern

[Question ID = 210][Question Description = Q40_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 837]
2. (2) [Option ID = 838]
3. (3) [Option ID = 839]
4. (4) [Option ID = 840]

Correct Answer :-
e (1) [Option ID = 837]



41) award is given by Railway Board for poetic writing

in Hindi.
(1) Maithili Sharan Gupt Award
(2) Premchand Award

(3) Lal Bahadur Shastn Award
(4) Jai Shankar Prasad Award

a2 gan B A Fiaar o & o 3ar
ST B

(1) FreieRer o WERR

(2) YHEE YLEPR

(3) wret IS i p=1 I

(4) STRET 98GR
[Question ID = 211][Question Description = Q41_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 841]
2. (2) [Option ID = 842]

3. (3) [Option ID = 843]
4. (4) [Option ID = 844]

Correct Answer :-
e (1) [Option ID = 841]

Is the Chairman of Ceniral Hindi Committee.

(1) President
(2) Vice President
(3) Prime Mmister

(4) Home Minister

AR R e e =1 1= B i st S~ I 1|

(1) Troguier
(2) FrSgafa
(3) FeITeTH=AT

(4) IFAT

[Question ID = 212][Question Description = Q42_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 845]
2. (2) [Option ID = 846]
3. (3) [Option ID = 847]
4. (4) [Option ID = 848]

Correct Answer :-
e (3) [Option ID = 847]



43 = ;
) levels of Hindi courses are prescribed for Central

Government employees.
(1) One

(2) Two

(3) Three

(4) Four
FERT T HAEIET F o TR & TEET araaw
feiia 81

(1) =

(2) e

(3) direr

(4) 9T

[Question ID = 213][Question Description = Q43_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 849]
2. (2) [Option ID = 850]
3. (3) [Option ID = 851]
4. (4) [Option ID = 852]

Correct Answer :-
® (4) [Option ID = 852]

44)  According to Official Language Rules, India is classified into
regions.

(1)5
(2)4
(3)3
(4)2
TTeTeT 19 % AR SR & a7 # aefiea T
T
(1)
(2)4
(3)3
(4)2
[Question ID = 214][Question Description = Q44_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 853]
2. (2) [Option ID = 854]
3. (3) [Option ID = 855]

4. (4) [Option ID = 856]

Correct Answer :-
e (3) [Option ID = 855]



) fthe employee has passed the matriculation or an equivalent or

higher examination with Hindi as one of the subjects, he will be

considered as having

(1) Proficiency in Hindi

(2) Working knowledge of Hindi
(3) Mastery in Hindi

(4) None of the given options

afy FATY & AR a1 ToTFaT A7 ITaol GlET H O R U
faw & =7 F BEr & @y 3390 R & 38 &
BT HAT S|

[Question ID = 215][Question Description = Q45_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 857]
2. (2) [Option ID = 858]
3. (3) [Option ID = 859]
4. (4) [Option ID = 860]

Correct Answer :-
e (2) [Option ID = 858]

empowered to make rules to implement the
Official Languages Act.

(1) Central Government
(2) State Government
{3) Railway Board

(4) Mirustry of Education

et FAHATH # an S & v B se e @ e
&l gl
(1) &R TER
(2) =g HEHT
(3) o &
(4) fewT FHareg
[Question ID = 216][Question Description = Q46_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 861]
2. (2) [Option ID = 862]

3. (3) [Option ID = 863]
4. (4) [Option ID = 864]

Correct Answer :-
e (1) [Option ID = 861]



47) Rules are there in the Official Language Rules,

1976.
(1) 14
(2) 12
(3) 10
4 9
oty Fas 1976 7 e 8
(1) 14
(2) 12
(3) 10
4 9

[Question ID = 217][Question Description = Q47_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 865]
2. (2) [Option ID = 866]
3. (3) [Option ID = 867]
4. (4) [Option ID = 868]

Correct Answer :-

e (2) [Option ID = 866]

As per section of the Official Languages Act,

fourteen documentis are to be compulsorily prepared, issued or

executed in both Hindi and English languages.

(1) Section 3(4)
(2) Section 3(3)
(3) Section 3(2)
{(4) Section 3(1)

oS FAfamE B any F IR, fRe 3R sre
Xt st #F dleg eraEe e w9 @ uR, ol o fAewfea
T e 1
(1) 4w 3(4)
(2) =mr 3(3)
(3) &mT 3(2)
(4) emT 3(1)
[Question ID = 218][Question Description = Q48_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 869]
2. (2) [Option ID = 870]

3. (3) [Option ID = 871]
4. (4) [Option ID = 872]

Correct Answer :-
® (2) [Option ID = 870]



49) document is not covered under Section 3(3) of

the Official Languages Act 1963.
{1) General Order
(2) Notification

(3) Press Release

(4) Representation

cEdde et AfafEae 1963 $r anr

3(3) & 3T fEer =g B

(1) T 3TGer

2)
)
)

%

 f

3 ﬁsﬁﬁr
(4) 3reaTdee

_—

[Question ID = 219][Question Description = Q49_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 873]
2. (2) [Option ID = 874]
3. (3) [Option ID = 875]
4. (4) [Option ID = 876]

Correct Answer :-
® (4) [Option ID = 876]

50)  in the Committee of Parliament on Official Language there are

sub-commitiees.

(11
(2)2
(3)3
(4) 4
e e so-affr adr &
(1)1
(2) 2
(3)3
(4) 4

[Question ID = 220][Question Description = Q50_AEE_PB_NAIRJUNE23]
1) [Option ID = 877]

2. (2) [Option ID = 878]

3. (3) [Option ID = 879]

4. (4) [Option ID = 880]

Correct Answer :-
® (3) [Option ID = 879]



>1) The tenure of the Chief Official Language Officer is

(1)1 Year

(2) 2 Years
(3) 3 Years

(4) 6 Months
HEg T 3 &1 S ag & giar & |

[Question ID = 221][Question Description = Q51_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 881]
2. (2) [Option ID = 882]
3. (3) [Option ID = 883]
4. (4) [Option ID = 884]

Correct Answer :-
e (1) [Option ID = 881]

52) Directive for development of Hindi Language was specified in Article
of the Constitution of India.
(1) Article 348
(2) Article 349
(3) Article 350
(4) Article 351

IR & AU & Heeog & e amar & g
% foir fAcyr Aigse fmam amar o)
(1) 37eI=ag 348
(2) 3= 349
(3) o 350
(4) ﬁﬂﬁ@?{.’ 351
[Question ID = 222][Question Description = Q52_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 885]
2. (2) [Option ID = 886]

3. (3) [Option ID = 887]
4. (4) [Option ID = 888]

Correct Answer :-
e (4) [Option ID = 888]



53
) The staff of a Central Government office shall ordinarily be deemed to

have acquired a working knowledge of Hindi if % of

the staff working therein have acquired such knowledge.

(1) 40

(2) 50

3)75

(4) 80
g IR & AT & HHAE T JHG 9T Ger &0
FIRETF A gl AT AN I IHH FRRT FHAAT o

% o UET A 9IeT R Ell

(1) 40

(2) 50

(3)75

(4) 80

[Question ID = 223][Question Description = Q53_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 889]
2. (2) [Option ID = 890]
3. (3) [Option ID = 891]
4. (4) [Option ID = 892]

Correct Answer :-
® (4) [Option ID = 892]

54) Passing the 'Pragya’ examination, conducted under the Hindi

Teaching Scheme of the Central Government, makes an employes

(1) Proficient in Hindi
(2) Having working knowledge of Hindi
(3) Competent to teach Hindi to government employees

(4) None of the given options

e, GER F BE Ravr Aieer & siadg 3eg S S arelr
'GAT G3RTT 30T el arell hareT BIa &l

(n ’%ﬂ’r#qﬂ’mar

(2) TEET AW F AW @ aren

(3) T FHARAT 1 B Jore F T
(4) fow v Bwedt 7 @ Fs a0

[Question ID = 224][Question Description = Q54_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 893]
2. (2) [Option ID = 894]
3. (3) [Option ID = 895]
4. (4) [Option ID = 896]

Correct Answer :-
e (2) [Option ID = 894]



55) sub-committee of the Committee of Parliament on

Official Language inspects the railway offices.
(1) Third
(2) Secaond
(3) First
(4) None of the given options

HEE TetarST AT 39 giafd o Frert &

[Question ID = 225][Question Description = Q55_AEE_PB_NAIRJUNE23]
1. (1) [Option ID = 897]
2. (2) [Option ID = 898]
3. (3) [Option ID = 899]
4. (4) [Option ID = 900]

Correct Answer :-

& (2) [Option ID = 898]

Topic:- AEE_PC_NAIRJUNE23

" The objective of the financial scrutiny of proposals received from the
Executive Departments is to

(1) secure maximum efficiency in railway operations at the
minimum cost

(2) secure maximum efficiency in railway operations at the
maximum cost

(3) secure minimum efficiency in railway operations at the
maximum cost

(4) None of the given options are correct

FrREN Bt & ureg gramEt & Bl S @ 3y
__ @argl
(1) TIAGH AET 9L YA e 7 O gerr g
FLEAT
(2) 3TEIeaHA @R W o] Hares & 3ffeda garar elide
TTAT
(3) 3fTEIaA TR W o TOies # s20eaH Gardl aide
HLAT
(4) @ arw Redt & & Fis o wEr 6l &

[Question ID = 226][Question Description = Q01_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 901]
2. (2) [Option ID = 902]
3. (3) [Option ID = 903]
4. (4) [Option ID = 904]

Correct Answer :-
e (1) [Option ID = 901]



2) is the professional head of the Railway Financial

Organization and represents the Government of India, Finance
Depariment on the Railway Board.

(1) The Member Finance

{2) The Member Accounts

(3) The Commissioner

(4} None of the given options are correct

Iod Tadir o & Siheeel 9AE 8 3R iod
a2 ¥ 9Rg R, G G & afa@EcT & g

(1) #e&g @9

(2) HEET U3

(3) 3MIEFd

)

(4) BU T EFedl A & s o Tg ae1 &

[Question ID = 227][Question Description = Q02_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 905]
2. (2) [Option ID = 906]
3. (3) [Option ID = 907]
4. (4) [Option ID = 908]

Correct Answer :-
e (1) [Option ID = 905]

The following method/methods of appraisal of capital expenditure
proposals are commonly used in industrial and commercial

undertakings.
(1) Accounting rate of return

(2) Pay back period
(3) Discounted Cash Flow

(4) All of the given options are cormrect

TSR ST YEIE] & Hedlae 9 et arerafemn smdat
T e 3 arfoifsas swrart 3 9T & S § |
(1) Reat &1 &@r &1
) ATl ARy et
) eSS der e
4) fgw v @l faweT a1 §
[Question ID = 228][Question Description = Q03_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 909]
2. (2) [Option ID = 910]

3. (3) [Option ID = 911]
4. (4) [Option ID = 912]

(2
(3
(

Correct Answer :-
e (4) [Option ID = 912]



4)

The following quantifiable benefit/benefits are accrued to the society
owing to implementation of the Railway project.

(1) Travel Time Savings

(2) Employment Generation

(3) Railway Network Decongestion

(4) All of the given oplions are comrect

o9 qRASET F FAEaad & FHOT A B HEArdiad
HEACHE o1# 915 G0 2l

(1) I & §FT F1 F9d

(2) TR GaieA

(3) YoTd oead o BFeee

(4) few are @l faerew e €

[Question ID = 229][Question Description = Q04_AEE_PC_NAIRJUNE23]
(1) [Option ID = 913]
(2) [Option ID = 914]
(3) [Option ID = 915]
(4) [Option ID = 916]

A W N -

Correct Answer :-
® (4) [Option ID = 916]

The is comparatively small and estimated on the

basis of previous actuals and any other circumstances that may be
known or foreseen at the time.

(1) Goods Revenue

(2) Sundry Revenue

(3) Charged Revenue

(4) None of the given options are correct

delellcA® ¥4 & ol § 3R Wod aedfds 3R
foret off 370 aRFPYTAAT & 3MUR W AT & S 39 9787 Ad
IqT GATHTH Bl Hehell ©

(1) Aol Tored

(2) wgr Ui

(3) IS T=TEd

(4) few 71T QAredt & & F15 off Ter sl §

[Question ID = 230][Question Description = Q05_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 917]
2. (2) [Option ID = 918]



3. (3) [Option ID = 919]
4. (4) [Option ID = 920]

Correct Answer :-

e (2) [Option ID = 918]

is an instrument of Parliamentary Financial

Control and at the same time, an important management tool.
{1) Chargesheet
(2) Divisional Railway Manager
(3) Budget

(4) None of the given options are correct

dud fadim Sdaur & ue 3usqor § oA @y
&1 UF FAgcayul YeUe 39T g

(1) ==l

(2) #HSA I gagH

(3) ele

(4) Bw 7w faFedl & & His off TSl AT &

[Question ID = 231][Question Description = Q06_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 921]
2. (2) [Option ID = 922]
3. (3) [Option ID = 923]
4. (4) [Option ID = 924]

Correct Answer :-
e (3) [Option ID = 923]

Operating Ratio is
(1) Percentage of Working capital to Eamings
(2} Percentage of Working Expenses to Earnings
(3) Percentage of Earnings to Working Expenses

{4) All of the given options are correct

qftEres Sedrd el
(1) afdeer Sfed vd A F 9O
(2) aféeer TFOaEE Ud HE T 9fde
(3) 3 UE gfheT wEEOGE &1 gfad
(4) T 7T HIW FeReT wET #

[Question ID = 232][Question Description = Q07_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 925]
2. (2) [Option ID = 926]
3. (3) [Option ID = 927]
4. (4) [Option ID = 928]

Correct Answer :-
e (2) [Option ID = 926]



8)

For Open tenders for Works invited through e-tendering with normal
notice period and having value up to and

including can be directly accepted by concemed

executive in Selection Grade/JAG levsl.
(1) Rs.20 lakh
(2) Rs.30 lakh
(3) Rs.50 lakh

(4) None of the given options are correct

TR Aifed 368 & o Rl & Areas § 3mEby F9t &g

=0

gen fAfaent & as 3R Efed Heu EoEem
Asfoluslt T’ A Haldd FRFH garl e TR U off dd gl
(1) 20 &g F94
(2) 30 oM@ ®9¥
{3) 50 &M@ T

(4) fGu a7 fa%edl A ¥ Fiz o T8 wal £

[Question ID = 233][Question Description = Q08_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 929]
2. (2) [Option ID = 930]
3. (3) [Option ID = 931]
4. (4) [Option ID = 932]

Correct Answer :-

e (3) [Option ID = 931]

The final disposal of of the audit notes and

inspection reports, whether on the accounts or executive offices, resis
with the Accounts Officer.

(1) Partl

(2) Partll

{3) Partlll

(4) All of the given options are correct

FHifge =e 3ty detor RO & &7 3fde FAae,
T @ial TR @1 AT FRSRT HEedn 9%, ol ATEHRT & 9 aiar
e

(1) & |
(2) &7 I
(3) T 1l
(4) Bu 7w |@sf faded Tt &

[Question ID = 234][Question Description = Q09_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 933]
2. (2) [Option ID = 934]
3. (3) [Option ID = 935]
4. (4) [Option ID = 936]

Correct Answer :-
e (2) [Option ID = 934]



10)
means all incidental and other expenditure

including expenditure on store which is incurred for the management
of an office, for the'working of establishment.

(1) Contingent expenditure

(2} Finance expenditure

(3) Charged expenditure

{4) None of the given options are correct

U widierd & gdue & folu, vumer g, @l
FERAS UG 0 &, TR W 2w & f@v @a G e g
(1) 3HFEATS =
(2) O ==a
(3) Wit <3y
(4) BU 70 eyl A T Fs T agr ag1 &

[Question ID = 235][Question Description = Q10_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 937]
2. (2) [Option ID = 938]
3. (3) [Option ID = 939]
4. (4) [Option ID = 940]

Correct Answer :-
e (1) [Option ID = 937]

Erstwhile Demand No. 5 - Abstract ‘C’ pertains to
(1) Repairs and Maintenance of Motive Power
(2} Repairs and Maintenance of Carriages and Wagons
(3) Operating Expenses-Rolling Stock and Equipment
{4) MNone of the given options are correct

el #HieT FE 5w Er 3wt &
(1) #ifed giay 1 AOFT A w@wEE
(2) $R= IR do= F AT I TWEE
(3) afareE safelT e AR 39eoT
(4) few arw fashedt # & P off T 76 &

[Question ID = 236][Question Description = Q11_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 941]
2. (2) [Option ID = 942]
3. (3) [Option ID = 943]
4. (4) [Option ID = 944]

Correct Answer :-
e (1) [Option ID = 941]



12) are recorded transactions which cannot be booked

to final heads of account for any reason
(1) Annual heads
(2) Transfer heads
(3) Suspense heads

(4) MNone of the given options are correct.

Ris e a0 da-ge § Siee TR off Ror &
@ra & fdA M9 7 g 7ET T o whar gl
(1) @i gsa
(2) Tiawl esd
(3) W gEw
(4) w70 et # & o5 o 9er 76T &

[Question ID = 237][Question Description = Q12_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 945]
2. (2) [Option ID = 946]
3. (3) [Option ID = 947]
4. (4) [Option ID = 948]

Correct Answer :-
e (3) [Option ID = 947]

As per scope of inspection of executive offices during the inspection
of the initial records of the office inspected need be

serutinised but the accounts of cash should be checked in

(1) only a percentage, full
(2) Full, only a percentage
(3) full, full

(4) None of the given options are correct

ferliator & giuer sl sl & FhEwT & R F 3Ear
FIRATAT & R Repis & S $r o TR,
ofepeT S, o WIdl HI oIl Sl aigy|

(1) 3Neelr T ORHSH &, T

(2) 9T, 3iieel € WS &

(3) /et

(4) Tow 31w faeedl 1 & His o TEr =gl ¢

[Question ID = 238][Question Description = Q13_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 949]
2. (2) [Option ID = 950]
3. (3) [Option ID = 951]
4. (4) [Option ID = 952]

Correct Answer :-
e (1) [Option ID = 949]



14)

All items in a depot having an annual usage value of Rs. 10,000 and
above but below Rs. 50,000 are ordinanly venfied
{1} Once in two year

(2) Oncein ayear
(3) Once in 6 months

(4) None of the given options are correct

w# B i mlt 3sca Gas affe 39 559 10,000 99 &
FHAF oftheT 50,000 FI T FA gl ¢, IHAAR W
FoAad Bid 8l

(1) & a¥ & U ax

(2) a¥ & UH 9

(3) 6 FE H TH IN

(4) for aw RAFedt § T F1S N W 9l §

[Question ID = 239][Question Description = Q14_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 953]
2. (2) [Option ID = 954]
3. (3) [Option ID = 955]
4. (4) [Option ID = 956]

Correct Answer :- Deleted

15) As per Rule 149 of 2017, procurement of common use

Goods and Services through GelM is mandatory, for Goods and
Services available in Gell.

(1) Indian Railway Account Rules

(2) Indian Railway Finance code

(3) General Financial Rules

{4) None of the given options are correct

2017 & f@OH 149 & JGHN, GeM H 39cIse]
aEdait 3N Har3tt & oI, GeM & ATEUH § WA 39T T aed3il
HR qarst & wldg A=ar &)

(1) SRR dod @rar ad

(2) ORI W G FIs

(3) T faRr e

(4) fow o Rwedt & & P ol W AT &

[Question ID = 240][Question Description = Q15_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 957]
2. (2) [Option ID = 958]
3. (3) [Option ID = 959]
4. (4) [Option ID = 960]

Correct Answer :-
e (3) [Option ID = 959]



16) Original means all new constructions, site

preparation, additions and alterations to existing works, special repairs
to newly purchased or previously abandoned buildings or structures,
including remodelling or replacement.

(1) Revenue

(2) Service
(3) Works
(4) None of the given options are correct
TqoT & F7F § gt Av FaAor e & S,

stor Frit & FAfET @9 3R TRES, T @ A T o
AT FFAT AT TIAIHT HT AN A, S Jaaihr ar widwame
T Bl

(1) Ui

(2) Far

(3) Ty

(4) Bw 7w AFedl # 9 Fis o 9 787 &

[Question ID = 241][Question Description = Q16_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 961]
2. (2) [Option ID = 962]
3. (3) [Option ID = 963]
4. (4) [Option ID = 964]

Correct Answer :-
® (3) [Option ID = 963]

17) With the merger of Railway Budget with the General Budgst, the
Demands for Grants and the Statement of Budget Estimates of

Railways shall also be part of the General Budget with effect from

(1) 201617
(2) 2017-18
(3) 2018-19

(4) None of the given options are correct

A doic &+ {IA I dolc & e & |1, Jeer & A7 A oa
& golc ATl B faaRer ot ¥ 3 gl #
fewam gram|

(1) 2016-17
(2) 2017-18
(3) 2018-19

(4) T&T a0 AFedt § & D5 o TeY 7ef &

[Question ID = 242][Question Description = Q17_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 965]
2. (2) [Option ID = 966]
3. (3) [Option ID = 967]
4. (4) [Option ID = 968]

Correct Answer :-
® (2) [Option ID = 966]



18) The Rent Rolls (A.1621) received with the pay bills should be checked

to see that

(1) The amount shown as rent recoverable is correct

(2) The recovery has actually been made through the pay bill

(3) The benefil of free guarters has not been allowed to staff not
entitled to the privilege

(4) All of the given options are correct

I SEl & Ty ueg T 59 (A 1621) & Ig @« & forw Sigar
arge & |
(1) age dEa BT & w9 A w7 uft wer g
(2) ST aredd H das 9 & AegH 9 A §
(3) HUC FENCT T OMH 3o FHUMAT HI eTg1 GAT TRT § S
fawfeFY & gFaR 78T &
(4) B mw weft Rreheq WET §

[Question ID = 243][Question Description = Q18_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 969]
2. (2) [Option ID = 970]
3. (3) [Option ID = 971]
4. (4) [Option ID = 972]

Correct Answer :-
® (4) [Option ID = 972]

All expenditure incurred in modemization of Rolling stock is allocated
o

(1) Depreciation Reserve Fund

(2) Development Fund

(3) Capital Fund

(4) All of the given options are correct

Ufelar ¥l & smyfadeor 7 fhe e wlremy . # amdfed
R S B

(1) HedpW IR e

(2) Taem fafer

(3) ot

(4) few o g3l O%cT WET &

[Question ID = 244][Question Description = Q19_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 973]
2. (2) [Option ID = 974]
3. (3) [Option ID = 975]
4. (4) [Option ID = 976]

Correct Answer :-
e (1) [Option ID = 973]



20)
shows the results of audit of the nitial records of executive

offices and stations.
(1) Specific Report
(2) Audit Note
{3)}Inspection Report

{4)None of the given options are correct

FRGEHT FETEAT FN T F IRiEE  AfEeEr &
erar et & o EEar g
(1) fafemse RO
(2) 3ifse ac
(3) ffraror Rre
(4) fow 7T T@aedi & O FI ol T8 78 &

[Question ID = 245][Question Description = Q20_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 977]
2. (2) [Option ID = 978]
3. (3) [Option ID = 979]
4. (4) [Option ID = 980]

Correct Answer :-
e (3) [Option ID = 979]

21) To become eligible for availing non-refundable partial withdrawal from

own contribution, an NPS subscriber must complete at least
months.
(1)18
(2) 24
(3) 36
(4) None of these
ol ARG & AT-arRiy A 3RE HFERh & ot 3om & v
o7 @efer & AN, U UAdIeH GaEHSS & &H O &
HElT R F g

(1) 18
(2) 24
(3) 36

(4) S W Ig TG

[Question ID = 246][Question Description = Q21_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 981]
2. (2) [Option ID = 982]
3. (3) [Option ID = 983]
4. (4) [Option ID = 984]

Correct Answer :-
e (3) [Option ID = 983]



22)
are the maximum number of school passes admissible for

each child of a Railway servant in a year.
(1) 3 full sets (or 6 half sets)
(2) 2 full sets (or 4 half sets)
(3) As per entitlement of parent

(4) None of these
wF 9§ F T Q9F F U 9= & foiw el wFa 9w &
IR HEan el

(1) 3 9o ¥ (I 6 BTF TT)

(2) 2 997 T (AT 4 71 HC)

(3) AT % HAHR F IFTER
(4) T F FIS 7

[Question ID = 247][Question Description = Q22_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 985]
2. (2) [Option ID = 986]
3. (3) [Option ID = 987]
4. (4) [Option ID = 988]

Correct Answer :-
e (1) [Option ID = 985]

23) Encashment of leave on average pay (availing railway pass) while in
service cannot be more than days.
(1) 60
(2)90
(3) 100
(4) 120

T # Ve U AT a0 Gl (Y09 IRT GIST Fh) T ABGIBIIT

et & e 78 &) THar B
(1) 60
(2) 90
(3) 100
(4) 120

[Question ID = 248][Question Description = Q23_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 989]
2. (2) [Option ID = 990]
3. (3) [Option ID = 991]
4. (4) [Option ID = 992]

Correct Answer :-
e (1) [Option ID = 989]



24) Byl form of UMID is

(1) Unigue Medical Information Details
(2) Universal Wedical Identity Card

(3) Unique Medical Identity Card

(4) None of these

AUANTES 1 0T A ¢
(1) gt AfSHe seheRE Beed
(2) gi-iadier Afwe st #HIs
(3) Ulis AiZwe FSsfeeel FIS
(4) STH 9 =I5 TG

[Question ID = 249][Question Description = Q24_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 993]
2. (2) [Option ID = 994]
3. (3) [Option ID = 995]
4. (4) [Option ID = 996]

Correct Answer :-
® (3) [Option ID = 995]

25) A Railway servant seeking voluntary retirement from service should
have completed at least ___ years of qualifying service.
(1} 2
(2) 10
(3) 20

(4) None of the given options

Jar & wiftes Ja@gfr o arct T das H FH S FA
ay &1 3EF Tar W = AR

(1) 5
(2) 10
(3) 20

(4) Bw 9w AFET 7 ¥ FIS AL

[Question ID = 250][Question Description = Q25_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 997]

2. (2) [Option ID = 998]

3. (3) [Option ID = 999]

4. (4) [Option ID = 1000]

Correct Answer :-
e (3) [Option ID = 999]



26) )
Full form of RESS is

(1) Railway Employee Service Store

(2) Railway Employse Self Service
(3) Railway Employment Service System
(4) Railway Employee Service Site

IRSTHTH H o7 7H 4
(1) (o9 Tl Afed R
(2) {e1d vagells Ao Aoy
(3) (@ wrelise iy [fweH
(4) {o1d UFTells @iaw HiET

[Question ID = 251][Question Description = Q26_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1001]
2. (2) [Option ID = 1002]
3. (3) [Option ID = 1003]
4. (4) [Option ID = 1004]

Correct Answer :-
® (2) [Option ID = 1002]

Standard Form No.4 is used for
(1) Suspension
(2) Deemed suspension
(3) Revocation of suspension
(4) Appointment of Enquiry Officer

Hiesr DI TEAr 4 &7 39901 % v fRar o g
(1) el
(2) 3= Heea
(3) Toieiasr & arad ool
(4) s iU 1 S

[Question ID = 252][Question Description = Q27_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1005]
2. (2) [Option ID = 1006]
3. (3) [Option ID = 1007]
4. (4) [Option ID = 1008]

Correct Answer :-
® (3) [Option ID = 1007]



28) In a trade test, a failed staff is eligible to re-appear in the fresh trade

test after
(1) his/her appeal for a re-test is accepted
(2) Promotion of the last successful candidate
(3) One year
(4) Six months

UF ¥ 4 A, UF 10w FHER & 9IG A0 ¢8 ¢ H
i & dod & v I g
(1) "ot: S&Tor & fov 3we/3ad 3o T 1 s §
(2) 3ifce Twe SO 1 TEeAd
(3) wem AT
(4) 67
[Question ID = 253][Question Description = Q28_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1009]
2. (2) [Option ID = 1010]

3. (3) [Option ID = 1011]
4. (4) [Option ID = 1012]

Correct Answer :-
® (4) [Option ID = 1012]

29)

Jomning time is not to be combined with
(1) Leave on Average Pay
(2) LHAP
3)CL
(4) None of these

Sarsfer e &I & T Fgl AT A= 9IfRT|
(1) 3 ddd W gl
(2) TeuguYr
(3) "@iver
(4) S & FiS T

[Question ID = 254][Question Description = Q29_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1013]
2. (2) [Option ID = 1014]
3. (3) [Option ID = 1015]
4. (4) [Option ID = 1016]

Correct Answer :-
e (3) [Option ID = 1015]



30)
Maximum number of financial upgradation which can be granted

under MACP are
(1) Four
{2) Three
(3) Two
(4) One

AT & dgd & S drell [0l e T ATEeae Er
_ &l

(1) IR

(2) e

@)ar

(4) o

[Question ID = 255][Question Description = Q30_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1017]
2. (2) [Option ID = 1018]
3. (3) [Option ID = 1019]
4. (4) [Option ID = 1020]

Correct Answer :-

e (2) [Option ID = 1018]

Days of Paternity Leave can be sanctioned to a male

employee.

(1) 20
(2) 10
(3) 30
(4) 15

9HY FHEAN H el & Mdea s HEied

T ST Tt ¢l
(1) 20
(2) 10
(3) 30
(4) 15

[Question ID = 256][Question Description = Q31_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1021]
2. (2) [Option ID = 1022]
3. (3) [Option ID = 1023]
4. (4) [Option ID = 1024]

Correct Answer :-
® (4) [Option ID = 1024]



32) Maximum number of Leave on Average Pay (LAP) that can be

encashed at the time of retirement is days.
(1)315
(2) 250
(3) 300
{(4) 365

staa a7 g (veed)) fr sfdwas e fcet

g &, T garfeafe & |8 aeRr o el gl
(1) 315
(2) 250
(3) 300
(4) 365

[Question ID = 257][Question Description = Q32_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1025]
2. (2) [Option ID = 1026]
3. (3) [Option ID = 1027]
4. (4) [Option ID = 1028]

Correct Answer :-
e (3) [Option ID = 1027]

Railway servant is required to report to Government for any movable

property transaction, if value of this transaction exceeds

(1) Two month’s Basic Salary

(2) Half month’s Basic Salary

(3) One month's Basic Salary
(4) One and Half month’s Basic Salary

IoT das H hdr off 9o U & od-gel T AT TN HI Gall
greft, afe 58 Ae-ge #1 qo ¥ 3 &l

(1) @ Helel & HeT delel

(2) 3T AT o HeT ATl

(3) Uk HEIe & HS dcdel

(4) ST HEIA & Hel delel

[Question ID = 258][Question Description = Q33_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1029]
2. (2) [Option ID = 1030]




3. (3) [Option ID = 1031]
4. (4) [Option ID = 1032]

Correct Answer :-
e (1) [Option ID = 1029]

Commuted pension of a Railway Servant is restored after a period of

(1) 15 years

(2) 12 years

(3) 10 years

(4) 6 years
U (e T o FHYCs G2 &1 39T & Jig gglea
ST gl

(1) 15aw

(2)12 a9

(3) 10 a@w

(4) 6a9

[Question ID = 259][Question Description = Q34_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1033]
2. (2) [Option ID = 1034]
3. (3) [Option ID = 1035]
4. (4) [Option ID = 1036]

Correct Answer :-
e (1) [Option ID = 1033]

Under RTI Act, after receiving the reguest for obiaining information
from an applicant, shall Public Infarmation Officer provide
the information to the applicant.

(1) Within 15 days of the receipi of the request

(2) Within 30 days of the receipt of the request

(3) Within 60 days of the receipt of the request

(4) Within 80 days of the receipt of the request

HARELIS. FAHTA & IFeradia Ided T Hoa 9ed A & [@r
e 9T B & I, g H T, Tl
e TR gEr & SeEt|

(1) Feer wiee gt & 15 feal & ofieR

(2) 3Tatier e gl & 30 feaf & sfiay

(3) gt Wie gl & 60 Al & afiey

(4) FH=er 9ied gl & 90 e & sl

[Question ID = 260][Question Description = Q35_AEE_PC_NAIRJUNE23]
1. (1) [Option ID = 1037]
2. (2) [Option ID = 1038]
3. (3) [Option ID = 1039]
4. (4) [Option ID = 1040]

Correct Answer :-



® (2) [Option ID = 1038]





